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Preface

 The Central Teacher Eligibility Test (CTET) stands as a cornerstone in the realm of education, 
shaping the future of aspiring educators and enriching the quality of teaching across the nation. 
This academic compendium, titled “Oswaal CTET Year-wise (2013-2024) 15 Solved Papers,” is 
a comprehensive collection meticulously curated to serve as an invaluable resource for those 
seeking to conquer the CTET examination offering a panoramic view of the shifting trends.

Teaching, the noble profession that it is, demands a profound understanding of pedagogical 
theories, effective classroom practices, and an unwavering commitment to nurturing young 
minds. The CTET examination, conducted by the Central Board of Secondary Education (CBSE), 
serves as a litmus test for candidates aspiring to become teachers in primary and upper primary 
classes.

 Some benefits of studying from Oswaal CTET Year-wise 15 solved papers are:

	 Ø 100% Updated with latest fully solved paper of 21st January, 2024.

	 Ø Concept Clarity with detailed & comprehensive explanations.

	 Ø Extensive Practice with 2500+ Questions and 2 Sample Question Papers.

	 Ø Crisp Revision with Smart Mind Maps.

	 Ø Expert Tips helps you get expert knowledge, Master & Crack CTET in first attempt

	 Ø Exam Insights with 5 Years (2019-2024) chapter-wise & Topic-wise Trend Analysis,   
  empowering students to be 100% exam ready

 This book has been developed with the highest editorial standards, keeping in mind the rigor 
and meticulousness required of an exam resource catering to CTET. The features of the book make 
it a must-have for anyone preparing for upcoming CTET 2024 Examination.

 We hope it will help students to supplement their CTET preparation strategy and secure a 
high rank.

 We wish the readers great success ahead!

 All the Best!

TEAM OSWAAL



( 4 )

“ EMBRACE YOUR UNIQUENESS, NOURISH SELF-CARE, AND PRESS 

FORWARD RELENTLESSLY. TO ACHIEVE FLIGHT, UNLOAD THE

from them and use them to 
fuel my growth & resilience.

I am not defined by grades & 
test scores. My true worth lies in 
my character, compassion and 

positive impact I have on others.

I celebrate my quirks, for they 
make me beautifully unique.

My voice matters and I 
believe in the power of my 
words to shape the world 

around me.

I am not the product of 
circumstances, I am the 

product of my own choices.

I am capable of learning and 
growing everyday.

I celebrate the achievements 
of others without diminishning 

my journey.

I strongly trust in my vision and 
work deligently towards 

making it a reality.

I believe that the twists & 
turns of my life lead me to an 
extraordinary destinations.

I face challenges with courage 
and determination.

CCHH
AANN

GGEE

I embrace my mistakes, learn

BAGGAGE THAT SLOWS YOUR ASCENT."

An affirmation is a positive statement or phrase that individuals repeat to 
themselves with the intention of fostering a positive mindset, self-confidence, or 

personal development. The practice involves affirming desired beliefs or qualities, 
often in the present tense, to reinforce a positive self-image and encourage a 

more optimistic outlook. 

PPoossiittiivvee  AAffiffirrmmaattiioonnss
Positive Affirmations
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CBSE CTET Paper-II 
Mathematics & Science

(Class 6 to 8)

Child Development and 
Pedagogy (30 MCQs)

1.

2. 

3.

Development of an Elementary School Child

Concept of Inclusive education and understanding children with 
special needs

Learning and Pedagogy

Language I (30 MCQs) 1.

2.

Language Comprehension

Pedagogy of Language Development

Language II (30 MCQs) 1.

2.

Language Comprehension

Pedagogy of Language Development

Mathematics (30 MCQs) A. Content (20 Questions)

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Number System

Knowing our Numbers

Playing with Numbers

Whole Numbers

Negative Numbers and Integers

Fractions

Algebra

Introduction to Algebra

Ratio and Proportion

Geometry

Basic geometrical ideas (2-D)

Understanding Elementary Shapes (2-D and 3-D)

Symmetry: (reflection)

Construction (using Straight edge Scale, protractor, compasses)

Mensuration

Data handling

B. Pedagogical issues: (10 Questions)

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Nature of Mathematics/Logical thinking

Place of Mathematics in Curriculum

Language of Mathematics

Community Mathematics

Evaluation

Remedial Teaching

Problem of Teaching

Syllabus
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Science (30 Questions) A. Content (20 Questions)

I.

II.

III. 

IV.

V.

VI.

VII.

Food

Ø Sources of food

Ø Components of food

Ø Cleaning food

Materials

Ø Materials of daily use

The World of the Living

Moving Things People and Ideas

How things work

Ø Electric current and circuits

Ø Magnets

Natural Phenomena

Natural Resources

B. Pedagogical issues: 10 Questions

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Ø

Nature & Structure of Sciences

Natural Science/Aims & objectives

Understanding & Appreciating Science

Approaches/Integrated Approach

Observation/Experiment/Discovery (Method of Science)

Innovation

Text Material/Aids

Evaluation – cognitive/psychomotor/affective

Problems

Remedial Teaching

Contd...
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Trend Analysis (2024-2019)

Child Development & Pedagogy

Chapter Name 2024 2023 2022 2021 2019

Child Development 15 13 13 17 13

Concept of Inclusive Education & understanding Children 
with Special Needs 4 9 5 4 7

Learning & Pedagogy 11 8 12 9 10

Total 30 30 30 30 30

Mathematics

Chapter Name 2024 2023 2022 2021 2019

Number System 4 3 4 4 4

Algebra 5 4 6 7 3

Geometry 6 4 10 3 1

Mensuration 3 4 - 4 1

Arithmetic’s 2 5 - 2 6

Maths Pedagogy 10 10 10 10 15

Total 30 30 30 30 30

Science

Chapter Name 2024 2023 2022 2021 2019

Food -

Materials 3 3 3 3 3

The World of Living Things 5 8 5 6 7

Moving Things, People and Ideas 5 3 5 4 2

How Things Work 2 3 3 4 2

Natural Phenomena 2 1 2 1 2

Natural Resources 3 2 2 2 3

Science Pedagogy 10 10 10 10 11

Total 30 30 30 30 30

English - I

Chapter Name 2024 2023 2022 2021 2019

Language Comprehension 15 15 15 15 15

Pedagogy of Language Development - - - 15 -

Language Skills - - - - -

Learning & Acquistions 15 15 15 - 15

Total 30 30 30 30 30
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Hindi

Chapter Name 2024 2023 2022 2021 2019

x|ka'k 12 14 15 9 8

dkO;ka'k 5 3 4 6 8

Hkk"kk 2 2 1 5 2

vkdyu 1 - - 1 1

iksVZQksfy;ks - 1 1 - -

fy[kuk - 1 1 1 1

iBu - 1 1 1 1

lkfgR; 1 - - - -

cgq&Hkkf"kdrk - - - - -

ikB~;&iqLrd 1 1 - - 1

vuqukfld fpUg - - - - -

Hkk"kk vtZu - - - - 1

iqLrdksa dk v/;;u 1 - - - -

ekSf[kd vfHkO;fDr 1 1 1 1 1

eqgkojs vkSj yksdksfDr;k¡ - - - - -

lkFkZd okD; - - 1 - -

fy[kuk fl[kkus ls iwoZ 1 1 - 1 -

Hkk"kk&{kerk dk vkdyu 1 1 - - 1

lkekftd var%fØ;k - - - - -

o.kks± dk mPpkj.k vuqdj.k - - - - -

O;kdj.k - - - - -

f'k{k.k lkexzh - - 1 1 1

lkfgR; f'k{k.k - - - - -

Hkk"kk f'k{k.k 2 2 2 2 2

Hkk"kkbZ fofo/krk 2 2 2 2 2

Total 30 30 30 30 30

Contd...
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Be mindful. Be grateful.
Be positive. Be true. Be kind

Three things 
that make 

you special

Three people 
you are 

grateful for 
and why

Three simple 
things you 

are grateful 
for

A challenging 
experience 
that made 

you stronger

Three ways to 
inject gratitude 

into a current 
challenge

Describe the 
last time you did 
something nice 

for someone

A fear you 
have 

overcome

Three 
activities you 

enjoy most 
and why

What made 
you smile 

today?

Three things 
you love about 

your family

What is your 
favorite place, 

and why?

Three things 
you love most 

about 
yourself

The last time 
you were 

overcome 
with joy

A risk you are 
grateful you 

took and why

Three everyday 
items you are 

grateful for

Three songs 
that bring you 

joy

What skill do you 
have that you 

are grateful for 
and why?

One luxury 
you are 

thankful for

Describe a 
rejection you 
are grateful 

for

Three things 
about your 

body you are 
grateful for

What are you 
most grateful 

for in your daily 
life?

Three things you 
are grateful for 

about where 
you live

Three items in 
your home 

you are 
grateful for

Say thank you 
to someone

Something in 
nature you are 

grateful for

A person in your 
past you are 
grateful for

Something at 
school you’re 

grateful for

Describe the 
last time you 
laughed so 

hard you cried

What is your 
proudest 

accomplish-
ment?

Three things 
you want to 

manifest
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JEE (MAIN) 15 Mock Test Papers (For 2024 Exam)

JEE (MAIN) 15 Mock Test Papers (Mathematics, Physics, 
Chemistry)

JEE (MAIN) Year-wise 22 Solved Papers(All Shifts)  
(For 2023 Exam)

Mathematics, Physics, Chemistry

JEE (MAIN) Chapter-wise & Topic-wise  Solved papers   
(2019-2023) Question Bank (For 2024 Exam)

Mathematics, Physics, Chemistry

JEE (MAIN) 24 Online Previous Years’ Solved Papers  
(All Shifts) 2023 (For 2024 Exam)

Mathematics, Physics, Chemistry

JEE(Main) RMT Cards

Physics Part - I, Physics Part - II, Chemistry Part - I Chemistry Part 
- II, Mathematics Part -I, Mathematics Part - II

JEE Advanced (For 2024 Exam) 22 Year-wise Solved Papers 
(2002-2023)

Mathematics, Physics, Chemistry

JEE Advanced 10 Mock Test Papers Paper 1 & Paper 2  
(For 2024 Exam)

JEE Advanced 10 Mock Test Papers (Paper-1 & 2)

GATE 14 Year-wise (For 2024 Exam) Solved Papers  
(2010 to 2023)

GATE 14 Yearwise Solved Paper (General Aptitude), GATE 14 
Yearwise Solved Paper (Engineering Mathematics)

GATE 14 Years’ (For 2024 Exam) Chapterwise & Topicwise 
Solved Papers (2010 to 2023)

GATE 14 Years’ Chapterwise & Topicwise Solved Papers (General 
Aptitude), GATE 14 Years’ Chapterwise & Topicwise Solved Papers 
(Engineering Mathematics)

NEET (UG) 36 Years’ Solved Papers (For 2024 Exam) 
Chapterwise & Topicwise 1988-2023

Biology, Physics, Chemistry

NEET (UG) 18 Year-wise Solved Papers (2006 to 2023)

Biology, Physics, Chemistry

NEET (UG) 15 Mock Test Papers (For 2024 Exam)

Physics, Chemistry, Biology

NEET (UG) RMT Cards

Physics Part-1, Physics Part-2, Chemistry Part-1, Chemistry Part-
2, Biology Part-1, Biology Part-2

Handbook Class 11 & 12, Entrance Exams   
(Engineering & Medical)

Physics, Chemistry, Mathematics & Biology

Vedic Maths

Vedic Maths (Ashima Sekhri)

CUET (UG) Mock Test Papers (For 2024 Exam)

English, Accountancy, Biology, Business Studies, Chemistry, 
Mathematics/Applied Mathematics, Entrepreneurship, 
Computer Science/Informatics Practices, Sociology, Economics, 
Geography, History, Physics, Political Science, Psychology, 
Physical Education, General Test

CDS Chapter-Wise & Topic-Wise Solved Papers (2014-2023)

Elementary Mathematics, English, General Knowledge

NDA-NA Chapter-Wise & Topic-Wise Solved Papers  
(2014-2023)

Mathematics, General Ability Test: English, General Ability Test: 
General Studies

CUET (UG) General Test Question Bank (For 2024 Exam)
Quantitative Aptitude, Logical Reasoning, General Awareness

National Talent Search Exam (NTSE) Year-wise  
Solved Papers (2011 -2021)

NTSE 10 Yearwise Solved Papers 2011-2021

NRA Question Bank 10th Pass

Quantitative Aptitude, Logical Reasoning, General Awareness, 
General English

NRA Question Bank 12th Pass
Quantitative Aptitude, Logical Reasoning, General Awareness, 
General English

NRA Question Bank Graduation Pass
Quantitative Aptitude, Logical Reasoning, General Awareness, 
General English

Objective General English
Objective General English

Objective Quantitative Aptitude
Objective Quantitative Aptitude

CAT
CAT 15 Mock Test Papers, CAT 25 Years’ Chapterwise & Topicwise 
Solved Papers (1990-2008) & (2017-2022), CAT 10 Years’ 
Chapterwise & Topicwise Solved Papers (2005-2008) & (2017-
2022), CAT 5 Years’ Solved Papers Shift-wise (2018-2022)

CLAT & AILET 10 Solved Papers (For 2024 Exam)
CLAT & AILET 10 Year-wise Solved Papers CLAT (2020-2023) & 
AILET (2018-2023)

UGC-NET
UGC NET Paper-1 Year-Wise-13 Solved Papers (2015-2023) 
(For 2024 Exam) General Aptitude, UGC NET Paper-1-15 Years’ 
Question Bank Chapterwise & Topicwise Solved Papers (2009-
2023) General Aptitude & UGC NET Paper-1 - 15 Mock Test Papers 
(For 2024 Exam) General Aptitude

RRB NTPC 2023 1st Stage Exam
RRB NTPC 12 Previous Years’ Papers 2016 (All Shifts) & 2019 (Two 
Shifts) +10 Mock Test Papers

UPSC CSE Prelims 10 Years’ Solved Papers (2014 -2023) 
English Medium (For 2024 Exam)

UPSC CSE Prelims General Studies (Paper-1), UPSC CSE Prelims 
General Studies (Paper-2) (CSAT)

UPSC CSE NCERT One for All (For 2024 Exam)
Polity, Economy, History, Geography, General Science

UPSC Power Bank For UPSC CSE & State PSCs Exam (For 
2024 Exam)

Ancient & Medieval History, Art & Culture, Geography, Indian 
Polity, Indian Economy, Science & Tech.,  Environment & Ecology, 
Modern History

UPSC CSE Prelims Mock Test Papers  (For 2024 Exam)
15 Mock Test Papers General Studies Paper-1, 15 Mock Test Papers 
(CSAT) General Studies Paper-2
UPSC CSE (Pre) 29 Years’ Solved Papers (1995-2023) (For 2024 

Exam)
UPSC 29 Years’ Topicwise Solved Question Paper Prelims GS 
Paper -1 & 2

UPPSC Prelims 15 Year-Wise Solved Papers

UPPSC Prelims 15 Year-Wise Solved Papers GS Paper-1 & Paper-2

CDS Year wise 11 Solved Papers (2018-2023)

Elementary Mathematics, English, General Knowledge

NDA-NA Year-wise 12 Solved Papers (2017-2023)

Mathematics, General Ability Test: English, General Ability Test: 
General Studies

Order Form
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BHUNA Khurana Book Store, 9896572520 BHILWARA Nakoda Book Depot, (01482) 243653, 9214983594, 
Alankar Book Depot, 9414707462

JAMMU JAIPUR Ravi Enterprises, 9829060694, Saraswati Book House, (0141) 2610823, 9829811155, 
Goyal Book Distt., 9460983939, 9414782130

Sahitya Sangam, 9419190177 UDAIPUR Sunil Book Store, 9828682260

JHARKHAND JODHPUR Second Hand Book Stall, 9460004745
BOKARO Bokaro Student Friends, (0654) 2233094, 7360021503, Bharati Bhawan Agencies,  

9431740797
TRIPURA

RANCHI Crown Book Distributor & Publishers, (0651) 2213735, 9431173904,  
Pustak Mandir, 9431115138,

AGARTALA Book Corner, 8794894165, 8984657146, Book Emporium, 9089230412

DUMKA Vidyarthi Pustak Bhandar, 9431310228 TAMIL NADU

KARNATAKA COIMBATORE Majestic Book House, (0422) 2384333, CBSC Book Shop, 9585979752
HUBLI Renuka Book Distributor, (0836) 2244124, Vidyamandir Book Distributors, 9980773976 CHENNAI Arraba Book Traders, (044) 25387868, 9841459105, M.R. Book Store (044) 25364596,  

Kalaimagal Store, (044) 5544072, 9940619404, Vijaya Stores, 9381037417, Bookmark
BANGLORE Krishna book house, 9739847334, Hema Book Stores, 9986767000, It-Books & Stat. Store, 7305151653, M.K. Store, 9840030099, Tiger Books Pvt. Ltd.,

9710447000, New Mylai Stationers, 9841313062, Prince Book House, Chennai,
Sapna Book House Pvt. Ltd., 9980513242, Hema Book World, 
(Chamrajpet) (ISC) 080-40905110, 9945731121

0444-2053926, 9952068491, S K Publishers & Distributors, 9789865544, Dharma 
Book Shop, 8667227171

BELLERI Chatinya book centre, 9886064731 PUDUCHERRY Sri Lakshmi Book Seller, 7871555145

KERALA SALEM Pattu book centre, 9894816280
ERNAKULAM Academic Book House, (0484) 2376613, H & C Store, 9864196344, 

Surya Book House, 9847124217, 9847238314
TRICHY P.R.Sons Book Seller, 9443370597, Rasi Publication, 9894816280

KOTTAYAM Book Centre, (0481) 2566992 THENI Maya Book Centre, 9443929274
TRIVANDRUM Academic Book House, (0471) 2333349, 9447063349, Ponni Book Stall, 9037591721 MADURAI Selvi Book Shoppe, 9843057435, Jayam Book Centre, 9894658036
CALICUT Aman Book Stall, (0495) 2721282, VELLORE G.K book centre and collections, 9894517994

MADHYA PRADESH TELANGANA
CHHINDWARA Pustak Bhawan, ( E & C ), 8982150100 HYDERABAD Sri Balaji Book Depot, (040) 27613300, 9866355473, Shah Book House, 9849564564

GWALIOR Agarwal Book Depot, 9425116210 Vishal Book Distributors, 9246333166, Himalaya Book World, 7032578527

Exclusive School Book Suppliers
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UTTARAKHAND GORAKHPUR Central Book House, 9935454590, Friends & Co., 9450277154, Dinesh book depot,  
9125818274, Friends & Co., 9450277154

DEHRADUN Inder Book Agencies, 9634045280, Amar Book Depot , 8130491477, Goyal Book Store,  
9897318047, New National Book House, 9897830283/9720590054

JHANSI Bhanu Book Depot, 9415031340

MUSSORIE Ram Saran Dass Chanda kiran,  0135-2632785,  9761344588 KANPUR Radha News Agency, 8957247427, Raj Book Dist., 9235616506, H K Book Dis-
tributors, 9935146730, H K Book Distributors, 9506033137/9935146730

UTTAR PRADESH LUCKNOW Vyapar Sadan, 7607102462, Om Book Depot, 7705871398, Azad Book Depot Pvt. Ltd., 
7317000250, Book Sadan, 9839487327, Rama Book Depot(Retail), 7355078254, 
Ashirwad Book Depot, 9235501197, Book.com, 7458922755, Universal Books, 
9450302161, Sheetla Book Agency, 9235832418, Vidyarthi Kendra Publisher & 
Distributor Pvt Ltd, (Gold), 9554967415, Tripathi Book House, 9415425943

AGRA Sparsh Book Agency, 9412257817,  Om Pustak Mandir, (0562) 2464014, 9319117771, 
Sanjay Publication, 8126699922 Arti book centre, 8630128856, Panchsheel Books, 
9412257962, Bhagwati Book Store, (E & C),  9149081912

MEERUT Ideal Book Depot, (0121) 4059252, 9837066307

ALLAHABAD Mehrotra Book Agency, (0532) 2266865, 9415636890 NOIDA Prozo (Global Edu4 Share Pvt. Ltd), 9318395520, Goyal Books Overseas Pvt.Ltd., 
1204655555  9873387003

AZAMGARH Sasta Sahitya Bhandar, 9450029674 PRAYAGRAJ Kanhaiya Pustak Bhawan, 9415317109

ALIGARH K.B.C.L. Agarwal, 9897124960, Shaligram Agencies, 9412317800, New Vimal Books, 
9997398868, T.I.C Book centre, 9808039570

MAWANA Subhash Book Depot, 9760262264

BULANDSHAHAR Rastogi Book Depot, 9837053462/9368978202

WEST BENGAL

BALRAMPUR Universal Book Center, 8933826726 KOLKATA Oriental Publishers & Distributor (033) 40628367,  Katha 'O' Kahini, (033) 
22196313, 22419071, Saha Book House, (033), 22193671, 9333416484, United 
Book House, 9831344622, Bijay Pustak Bhandar, 8961260603, Shawan Books 
Distributors, 8336820363, Krishna Book House, 9123083874

BAREILLY Siksha Prakashan, 9837829284 RENUKOOT Om Stationers, 7007326732

HARDOI Mittal Pustak Kendra, 9838201466

DEORIA Kanodia Book Depot, 9415277835 COOCH BEHAR S.B. Book Distributor, Cooch behar, 9002670771

VARANASI Gupta Books, 8707225564, Bookman & Company, 9935194495/7668899901 KHARAGPUR Subhani Book Store, 9046891334

MATHURA Sapra Traders, 9410076716, Vijay Book House , 9897254292 SILIGURI Agarwal Book House, 9832038727, Modern Book Agency, 8145578772

FARRUKHABAD Anurag Book Agencies, 8844007575 DINAJPUR Krishna Book House, 7031748945

NAJIBABAD Gupta News Agency, 8868932500, Gupta News Agency, ( E & C ), 8868932500 MURSHIDABAD New Book House, 8944876176

DHAMPUR Ramkumar Mahaveer Prasad, 9411942550

Entrance & Competition Distributors
BIHAR CUTTAK A.K.Mishra Agencies, 9437025991

PATNA Metro Books Corner, 9431647013, Alka Book Agency, 9835655005, Vikas Book 
Depot, 9504780402

BHUBANESH-
WAR

M/s Pragnya, 9437943777

CHATTISGARH PUNJAB

KORBA Kitab Ghar, 9425226528, Shri Ramdev Traders, 9981761797 JALANDHAR Cheap Book Store, 9872223458, 9878258592

DELHI RAJASTHAN

DELHI Singhania Book & Stationer, 9212028238, Radhey Book depot, 9818314141, The 
Book Shop, 9310262701, Mittal Books, 9899037390, Lov Dev & Sons, 9999353491

KOTA Vardhman Book Depot, 9571365020, Raj Traders, 9309232829

NEW DELHI Anupam Sales, 9560504617, A ONE BOOKS, 8800497047 JAIPUR Goyal Book Distributors, 9414782130

HARYANA UTTAR PRADESH

AMBALA Bharat Book Depot, 7988455354 AGRA BHAGWATI BOOK STORE, 9149081912, Sparsh Book Agency, 9412257817, 
Sanjay Publication, 8126699922

JHARKHAND ALIGARH New Vimal Books, 9997398868

BOKARO Bokaro Student Friends Pvt. Ltd, 7360021503 ALLAHABAD Mehrotra Book Agency, (532) 2266865, 9415636890

MADHYA PRADESH GORAKHPUR Central Book House, 9935454590

INDORE Bhaiya Industries, 9109120101 KANPUR Raj Book Dist, 9235616506

CHHINDWARA Pustak Bhawan, 9827255997 LUCKNOW Azad Book Depot PVT LTD, 7317000250, Rama Book Depot(Retail), 7355078254
Ashirwad Book Depot , 9235501197, Book Sadan, 8318643277, Book.com , 
7458922755, Sheetla Book Agency, 9235832418

MAHARASHTRA PRAYAGRAJ Format Center, 9335115561, Garg Brothers Trading & Services Pvt. Ltd., 
7388100499

NAGPUR Laxmi Pustakalay and Stationers, (0712) 2727354 UTTAR PRADESH

PUNE Pragati Book Centre, 9850039311 DEHRADUN Inder Book Agancies, 9634045280

MUMBAI New Student Agencies LLP, 7045065799 WEST BENGAL

ODISHA KOLKATA Bijay Pustak Bhandar Pvt. Ltd., 8961260603, Saha Book House, 9674827254
United Book House, 9831344622, Techno World, 9830168159

BARIPADA Trimurti Book World, 9437034735
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Paper-2 
21st January, 2024CTET Solved Paper

Time: 2 hours 30 mins. Total Marks: 150

Child Development and Pedagogy

Direction (1-30): Answer the following questions by 
selecting the correct/most appropriate options.
1. Dyslexia is a — condition which impacts learner’s 

ability to
(1) Physiological, socialize with peers
(2) sensory, Coordinate body movements
(3) emotional, draw pictures
(4) neurological, link sounds with symbols

2. Assertion (A): Learning from real-life problems and 
concrete experiences gives the children multiple 
pathways for learning and retrieving information.

 Reason (R): Development is relatively orderly and 
sequential.

 Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
3. Asking Critical questions such as “how much and 

in what ways are various gender represented in 
textbooks and media” would encourage :
(1) Reinforcing gender identity 
(2) Discouraging gender role flexibility
(3) Questioning gender stereotypes
(4) Strengthening gender

4. Assertion (A): In an inclusive classroom, adaptations 
should be made in learning goals, pedagogical 
strategies as well as assessment,

 Reason (R) : The philosophy of inclusion advocates 
elimination of all individual differences through 
pedagogical approaches and assessment.

 Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
5. A teacher notices that one of her students is highly 

distractable and has trouble paying attention during 
class. Which of the following strategies would is 
an effective strategy in helping the student stay 
focused?
(1) Giving a timer to student for self-regulation and 

time-management,
(2) Calling the parents and taking Strict disciplinary 

action against the student.

(3) Giving the student repeated tasks to do during 
class.

(4) Strictly telling the student to increase their 
attention span.

6. Assertion (A): Teachers should constantly reflecting 
their own stereotypes and bias,

 Reason (R): Culturally responsive teaching means 
that teachers are reflective.

 Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
7. Which of the following process is essential in 

meaning making of the information received from 
environment and store it further in memory?
(1) Forgetting (2) Retrieval
(3) Attention (4) Decay

8. In which stage of Kohlberg's moral development do 
children's reasoning revolve around ethics of law?
(1) Heteronomous morality 
(2) Autonomous morality
(3) Pre-conventional morality 
(4) Conventional morality

9. Which of the following is a core principle of 
constructivist learning, not with their environment,
(1) Students construct their own knowledge 

through achieve engagement
(2) Learning is primarily a passive process that 

involves receiving and memorizing information.
(3) Teachers should provide direct instruction and 

explicit guidance to students.
(4) Learning occurs when students receive correct 

answer and feedback from teachers.
10. According to Vygotsky, what is the role of the teacher 

in facilitating cognitive development ?
(1) To allow the student to learn completely 

independently.
(2) To give only those tasks that the student can 

currently do independently,
(3) To provide information and knowledge to the 

student.
(4) To guide and support the student's learning 

through scaffolding.
11. Which of the following does not exemplify an 

inclusive Classroom ?
(1) Offering differentiated instruction
(2) Encouraging competitive ethos
(3) Incorporation of diverse perspectives
(4) Following reasonable accommodation



18  CTET Year-wise Solved Papers

12. An elementary school teacher can strongly influence 
students’ development of academic self-concept by:
(1) Rewarding autonomy and initiative in students
(2) Keeping very low expectations from special 

students:
(3) Keeping very low expectation from all students
(4) Punishing autonomy and initiative in students

13. According to Lev-Vygotsky children benefit from the 
experience of interacting with _____ while working 
_____ their zone of proximal development.
(1) the physical environment; within
(2) the physical environment; just outside
(3) more knowledgeable others; within
(4) more knowledgeable others, just outside

14. Assertion (A): There is no objectively definable 
moment when a child enters middle childhood and 
adolescence.

 Reason (R): Development is continuous in nature.
 Choose the correct option.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
15. In a progressive classroom assessment is :

(1) Summative  (2) Normative
(3) Dynamic  (4) Objective

16. In order to address the individual differences 
among, learners, a teacher should :
(1) consider differences as obvious feature of human 

diversity
(2) implement a rigid and uniform curriculum for 

all learners
(3) acknowledge differences as abnormal and kind 

of deficit
(4) be indifferent towards individual differences

17. Alok shows the following behaviours: Holds head 
in an awkward position when reading; squinting 
and rubbing the eye frequently; redness/swelling of 
eyes; Confusing letters. These can be symptoms of 
potential : 
(1) Autistic spectrum disorder 
(2) Communication disorder
(3) Visual problems 
(4) Language comprehension problems

18. Which of the following describes a mastery goal 
orientation ?
(1) focus on achieving a high grade for receiving 

external rewards,
(2) focus on avoiding failure or punishment for fear 

of humiliation.
(3) focus on achieving a certain level of performance 

for competing with others.
(4) focus on improving ones skills and understanding 

of a task.
19. According to Jean Piaget the ability to use symbols 

for symbols such as letting the letter X stand for an 
unknown numeral develops during and enables the 
children to learn.
(1) formal operational stage; algebra and calculus

(2) formal operational stage; conservation and 
seriation

(3) concrete operational stage; algebra and calculus
(4) concrete operational stage; conservation and 

seriation
20. Assertion (A): Students are more likely to do well 

and stay in school if they have emotional attachment 
to their school and believe that they matter.

 Reason (R) : Emotions play a significant role in 
learning

 Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
21. Which of the following best describes the role of the 

teacher in progressive education ?
(1) The teacher is responsible for ensuring strict 

adherence to curriculum standards.
(2) The teacher gets the children learn independently 

and does not interfere in their learning.
(3) The teacher is the primary source of knowledge 

and authority in the classroom.
(4) The teacher provides diverse materials for 

children to experiment and provides scaffolding 
as and when required.

23. Which of the following statement about adolescence 
is not correct?
(a) It is a linear process. 
(b) It is a complex process.
(c) It is a multidimensional process. 
(d) It takes place uniquely in different cultures,
(1) (b), (c), (d) (2) (a), (b), (c), (d)
(3) (a), (b) (4) (b), (c)

23. Which of the following statement adolescence is not 
correct ?
(1) Adolescence is development transition between 

childhood and adulthood entailing physical, 
cognitive and psychosocial changes. 

(2) Children across different cultures usher in and 
experience adolescence in a similar manner.

(3) Adolescence is a social construction.
(4) Adolescence is generally considered to begin 

with puberty - the process that leads to sexual 
maturity and the ability to reproduce.

24. Work in progress Portfolios are an effective tool for 
formative assessment because :
(1) They involve students in the process of 

assessment
(2) They offer insights about the progress of 

individual students.
(3) They focus mainly in the presentation of the 

final product.
(4) They offer tangible evidence of student learning.

25. A middle school teacher wants to enable meaningful 
learning by helping students make corrections 
between concepts and real-world applications. 
Which of the following activities would be an 
appropriate pedagogical strategy?
(1) Let the students learn by the method of stimulus-

response conditioning.
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(2)  Let the students research on a current issue in 
small groups and present their findings to the 
class.

(3) Let the students memorize terms and definitions.
(4)  Let the students complete worksheets with 

multiple choice questions.
26. Sujata participates eagerly in the dance competition 

only because she is interested in winning the first 
prize of cash. Sujata is :
(1) Mastery-Oriented learner 
(2) Failure-avoiding learner
(3) Intrinsically motivated 
(4) Extrinsically motivated

27. Which of the following is an example of a question 
that requires students to analyze information ?
(1) How does the author use symbolism in “To Kill a 

Mockingbird”?
(2) Who is the protagonist of “To Kill a Mockingbird”?
(3) What is the plot of the novel “To Kill a 

Mockingbird” ?
(4) What is the theme of the novel “To Kill a 

Mockingbird”?
28. Jean Piaget believed that knowledge is :

(1) co-constructed in interactions with more 
knowledgeable others.

(2) a visible behavioural change that can be 
measured with reliability.

(3) constructed by the child rather than being 
passed passively from the environment.

(4) innate and given rather than acquired through 
interactions.

29. The Central argument of Carol Gilligan's critique of 
Kohlberg's theory of moral development is around :
(1) Use of experimental design in studying children
(2) Educational implications of the study for school 

going children.
(3) Ethics of care and the feminist perspective
(4) Overestimation of children’s moral abilities.

30. Assertion (A): The less able a child is to do a task the 
more directions the teachers should give and as the 
child can do more and more the teacher should help 
less and less.

 Reason (R): Intelligence cannot be accurately 
measured by calculating IQ.

 Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).

Mathematics and Science

Direction: Answer the following questions by selecting the 
correct/most appropriate options.
31. Three numbers are in the ratio 2 : 3 : 4 and the sum 

of their cubes is 33957. What is the sum of the three 
numbers?
(1) 72 (2) 81
(3) 54 (4) 63

32. Three consecutive integers are such that when they 
are taken in increasing order and multiplied by 3, 5 

and 2, respectively, they add up to 99. What is the 
sum of the original first and third integers?
(1) 20 (2) 24
(3) 16 (4) 18

33. A student listed the following properties of Rational 
Numbers. Which one/ones is/are correct?
(a) A rational number includes integers
(b) 0 (zero) is not a rational number
(c) All fractions are rational numbers

 Choose the correct option.
(1) Only (c) (2) (a) and (b)
(3) (a) and (c) (4) Only (b)

34. The area of the curved surface of a right circular 
cylinder is 4400 cm2 and the circumference of its 

base is 110 cm. Its volume (in m3) is : 
22

Use 
7

 π =  

(1) 0.0285 (2) 0.0382
(3) 0.0284 (4) 0.0385

35. In triangle, PQR, ∠P = 55° and QR = 18 cm. In 
which of the following cases, DPQR can be an obtuse 
scalene triangle?
(1) ∠R = 65° and PQ > 18 cm
(2) ∠R = 35° and PR = 18 cm
(3) ∠R = 25° and PQ = 18 cm
(4) ∠R = 15° and PR > 18 cm

36. Concept was labelled as 'Schema' by:
(1) Bruner (2) Van Hieles
(3) Vygotsky (4) Piaget 

37. If 
3 41 2

,
3 3

x
y

− −−   = ÷   
   

 then what is the value of 

1

?
x y
y x

−
 

+ 
 

(1) 
38
73  (2) 48

265
−

(3) 
3

16
−  (4) 19

48

38. If A = –2x2 + 12x, B = 11 – 8x + 3x2, C = 17 – 4x2 

and D = x2 – x – 3, then what is the sum of the co-
efficients of x2 and x in (A + B + C – D)?
(1) 1 (2) 3
(3) 0 (4) –1

39. BD is the diagonal of parallelogram ABCD such that 
∠CBD = 12x, ∠ABD = 7y, ∠ADB = 60° and ∠CDB 
= 28°. Then, the value of 2x + 3y is :
(1) 22° (2) 23°
(3) 20° (4) 21°

40. If x = 1.011 + 10.11 – 12.101 + 0.1011, then what 
should be added to x to get the sum as 1.1?
(1) 0.2211 (2) 1.1311
(3) 1.9789 (4) 0.3111

41. If a 8 - digit number 9 4 7 1 x 9 y 2 is divisible by 72, 
then which of the following statements is not true? 
(1) x = 9 and y = 5 (2) x = 3 and y = 1
(3) x = 8 and y = 5 (4) x = 4 and y = 9

42. One of the factors of p3x + p2(x – y) – p(y + z) – z is :
(1) p2x – py – z (2) p2x + py – z
(3) p2x – py + z (4) p2x + py + z
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43. If the median of the data 30, 8, 7, 3, 17, 15, 21, 24, 
29, 23 is x and the median of the data obtained by 
replacing 3 by 33 and 8 by 18 in the above data is y, 
then what is the difference between y and x?
(1) 3 (2) 4
(3) 1 (4) 2

44. A middle school mathematics teacher poses the 
following question to her class.
(a) The height of participants in an athletics meet
(b) The number of passengers boarding trains from 

9:00 am to 9:00 pm at a stration".
The intention of the teacher is to-
(1) Teach line graph through contextual situations
(2) Teach the use of historams for data representation
(3) Help learners to understand the difference 

between bar graph and line graph
(4) Introduce the concept of pie charts.

45. In triangles ABC and DEF; ∠B = 90°, BC = 8 cm, ∠A 
= 40°, DE = 8 cm, ∠F = 40° and ∠E = 90°. Then, 
which of the following statements is true?
(1) DABC ≅ DDEF, by AAS
(2) DABC ≅ DFED, by AAS
(3) DABC ≅ DDEF, by RHS
(4) DABC ≅ DFED, by RHS

46. The lengths of the parallel sides of a trapezium are 
11 cm and 25 cm and the distance between them is 
12 cm. Its area is equal to the area of a rectangle 
whose sides are in the ratio 3 : 2. What is the 
perimeter (in cm) of the rectangle?
(1) 60 (2) 70
(3) 40 (4) 50

47. A class VI mathematics teacher posed the following 
problem to her students:

 "In a morning walk, three persons started together. 
Their steps measure 70 cm, 85 cm and 95 cm respec-
tively. What is the minimum distance each should 
walk so that all can cover the same distance in com-
plete steps?"

 Which of the following concepts would be required 
to solve the given problem?
(1) Concept of division (2) Concept of proportion
(3) Concept of HCF (4) Concept of LCM

48. National Education Policy (NEP) 2020 recommends 
that Sports Integrated Pedagogy needs to be used 
in classroom teaching. Which among the following 
are correct in the context of using sports integrated 
pedagogy in mathematics classroom?
(a) Teaching-learning process shall become joyful
(b) It is not possible to use sports for teaching 

mathematics
(c) It will be time consuming and hence needs to be 

avoided
(d) Apart from popular sports, there are many 

indigenous sports which can be used in teaching 
mathematics.

 Choose the correct option.
(1) (a) and (d) (2) (b), (c) and (d)
(3) (a) and (c) (4) (b) and (c)

49. The difference between two supplementary angles 
is 20°. If the smaller of these angles is p, then the 
value of 3p – 50° is :
(1) 250° (2) 190°

(3) 310° (4) 270°
50. Teacher conducted an oral assessment in class and 

found that Ram can speak definition of all types 
of numbers-odd, even, prime, and composite 
accurately, but not able to identify the numbers 
accurately when given a set of numbers.

 Which of the following is most appropriate for the 
above situation?
(1) Ram has good memory but lacks conceptual 

understanding
(2) Ram has analytical ability
(3) Ram has good memory but lacks practice
(4) Ram has good memory but lacks concentration.

51. Mathematics is a way of thinking since:
(a) It provides an opportunity for students to 

engage in proofs and examining patterns.
(b) Students reproduce formulae and symbols 

during probem solving
(c) Students use appropriate strategies for solving 

various new problems
 Choose the correct option.

(1) (a) and (c) (2) Only (b)
(3) (a) and (b) (4) (b) and (c)

52. x varies inversely as y. When x = 3.5, then y = 2.4. 
What is the value of y when x = 5.6?
(1) 2.1 (2) 2.8
(3) 1.4 (4) 1.5

53. The following table shows the number of different 
fruits kept in a carton:

Types of 
fruits

Mangoes Apples Oranges Guavas Pome- 
granates

Number 44 56 42 30 38

 If a pie chart is constructed for the above data, what 
will be the angle of the sector representing apples?
(1) 96° (2) 100.8°
(3) 79.2° (4) 72°

54. A shopkeeper sells an article for ` 324 after giving a 
discount of 28% on its marked price. The cost price 
of the article is ` 300. If he sells the article by giving 
18% discount on its same marked price, then what 
will be his profit percent?
(1) 23% (2) 24%
(3) 10% (4) 19%

55. The product of two rational numbers is 
40

.
3

−  If one 

of the two numbers is 
5

,
2

−  then the reciprocal of 

the other number lies between:

(1) 
1 1

 and 
5 4

 (2) 1 1
 and 

4 3

(3) 
3 9

 and 
20 50

 (4) 
9 1

 and 
50 5

56. The number of vertices (V), edges (E) and faces (F) 
of a polyhedron are respectively 10, 15 and x. Then 
the value of (3x – 12) is :
(1) 14 (2) 18
(3) 7 (4) 9
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57. A student was given the following problem on 
percentage to solve.

 "Find the percentage of decrease if the population of 
a city decreased from 28,000 to 26,500."

 She wrote the following solution.
 Original population = 28,000; New population = 

26,500

 % decrease = 
26, 500

100 94.6%
28,000

× =

 Which of the following is most appropriate with 
respect ot the response of the student?
(1) Student does not know the concept of 

percentage.
(2) Student has made a careless mistake
(3) Student is able to understand the concept 

of percentage but is not able to understand 
percentage of which quantity is to be found.

(4) Student has solved the question correctly but 
had used wrong symbols in solution.

58. A box opened at the top is made of wood of 
thickness 3 cm. Its external length, breadth and 
height are respectively 1.48 m, 1.16 m and 83 cm 
(base = length × breadth). What will be the cost of 
painting its inner surface at ` 150 per m2?
(1) ` 841.40 (2) ` 842.50
(3) ` 838.20 (4) ` 839.10

59. Which among the following Learning-Teaching 
Resources (LTRs) are most appropriate for visually 
challenged students in mathematics classroom?
(a) Geogebra (b) Taylor's abacus
(c) Computer (d) Spreadsheet

 Choose the correct option.
(1) (b) and (c) (2) (b), (c) and (d)
(3) (a) and (b) (4) (c) and (d)

60. Which of the following is not a dimension of 
assessment of mathematics learning?
(1) Disposition towards mathematics
(2) Mathematical reasoning
(3) Communication
(4) Patterns and procedures

61. Which is the following is NOT indicative of the 
hypothesising skill?
(1) Using the senses to gather information
(2) Identifying variables for an experiment
(3) Formulating questions which lead to inquiry
(4) Attempting to explain observations or relation-

ships in terms of some principle
62. Identify the correct statement(s):

(a) A fact is observation that has repeatedly been 
found to be true over the time.

(b)  A law is a theory that has repeatedly been found 
to be true over the time. 

(1) Only (b) (2) Neither (a) nor (b)
(3) Only (a) (4) (a) and (b)

63. Which of the following plant disease(s) are caused 
by bacteria?
(a) Rust of wheat
(b) Citrus canker
(c) Yellow vein mosaic of bhindi
(1) (b) and (c) (2) Only (c)
(3) (a) and (b) (4) Only (b)

64. A teacher, while teaching the chapter 'Body Move-
ments' to class VI students shows the following im-
ages to her students:

 A sailing boat, swimming fish and a flying aeroplane. 
She then asks the students to reflect on the shape of 
the images and the manner of movement. Which of 
the following are likely to be employed by students 
in answering?
(a) Classifying (b) Observing
(c) Inductive reasoning (d) Measuring
(1) (c) and (d) (2) (a) and (d)
(3) (a) and (b) (4) (b) and (c)

65. Match the substances with the categories mentioned.

Column A Column B

A. Slaked lime (i) Calcium oxide

B. Table salt (ii) Sodium bicarbonate

C. Limestone (iii) Calcium carbonate

D. Caustic soda (iv) Calcium hydroxide

E. Quick lime (v) Sodium hydroxide

F. Baking soda (vi) Sodium chloride
 Choose the correct option.

(1) A-(i), B-(vi), C-(iii), D-(v), (E)-(ii), F-(iv)
(2) A-(iv), B-(v), C-(iii), D-(ii), (E)-(i), F-(vi)
(3) A-(iv), B-(vi), C-(iii), D-(v), (E)-(i), F-(ii)
(4) A-(vi), B-(ii), C-(v), D-(i), (E)-(iii), F-(iv)

66. Read the following text:
 When a negatively charged rod is brought near an 

uncharged electroscope.
(a) the electroscope leaves move further apart
(b) both the electroscope leaves acquire similar 

charge
(c) the negative charges pass on to the electroscope 

causing its leaves to move further apart of the 
aobve three statements:

(1) (a), (b) and (c) are observations
(2) (a), (b) and (c) are inferences
(3) (a) is an observation while (b) and (c) are 

inferences
(4) (a) and (b) are observations and (c) is an 

inference.
67. Read the following statements and choose the 

correct option.
 Assertion (A): The stars in the night sky appear to 

move from east to west.
 Reason (R): The earth rotates from west to east.

(1) (A) is correct but (R) is incorrect.
(2) (A) and (R) are both incorrect.
(3) (A) and (R) are both correct and (R) is the correct 

explanation of (A).
(4) (A) and (R) are both correct but (R) is not the 

correct explanation of (A).
68. A box of mass 500 g is lying on a horizontal table. 

Which of the following statements is true regarding 
the force(s) acting on it? [g = 10 m/s2]
(1) A pair of balanced forces acts on it
(2) An unbalanced force of 5 N acts on it in the 

upward direction
(3) No force acts on it
(4) An unbalanced force of 5 N acts on it in 

downward direction
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69. Which of the following best explains the statement 
'science promotes scepticism'?
(1) Scientists do not trust the findings of other 

scientists
(2) Scientists are open-minded and willing to modify 

their ideas
(3) Scientists judge the validity of a claim based on 

objective empirical evidence
(4) Science is purely inductive in nature

70. X and Y are thick, black liquids which can be used 
for metalling the roads. X is derived from petroleum 
and Y is derived from coal. Which of the following 
can X and Y respectively be?
(1) Charcoal, Bitumen (2) Coal Tar, Bitumen
(3) Bitumen, Coal Tar (4) Coal Tar, Charcoal

71. Which of the following is the most suitable reason 
behind Newtons theory of gravitation being 
regarded as an excellent theory?
(1) It has been formulated using the precise lan-

guage of mathematics
(2) It has been developed over a long period of time
(3) It explains larger number of observations by 

making fewer assumptions
(4) It has been arrived at after thorough experimen-

tation
72. Find the set that correctly matches the plants with 

the mode of asexual reproduction which they 
exhibit.

Column A Column B

A. Rose (i) Budding

B. Yeast (ii) Spore formation

C. Ferns (iii) Fragmentation

D. Spirogyra (iv) Pollination

(v) Vegetative propagation
 Choose the correct option.

(1) A-(v), B-(iii), C-(ii). D-(i)
(2) A-(iv), B-(iii), C-(i). D-(ii)
(3) A-(v), B-(i), C-(ii). D-(ii)
(4) A-(iv), B-(i), C-(v). D-(iii)

73. Read the following statements carefully and select 
the correct option.

 S1: Rayon is a synthetic fibre.
 S2: Rayon is made without using any natural raw 

material
(1) S1 is false and S2 is true
(2) Both S1 and S2 are false
(3) Both S1 and S2 are true
(4) S1 is true and S2 is false

74. Which of the following would be a most suitable 
strategy to introduce the topic 'deficiency diseases' at 
upper primary level?
(1) List the various nutrients and the functions they 

perform in human body.
(2) Hold a discussion on common human diseases.
(3) Provide a definition of balanced diet and intro-

duce the concept of deficiency.
(4) Arrange for a doctor's prescription pertaining to a 

deficiency isease and hold a discussion around it.

75. Consider the test item given below and match the 
following :

Column A Column B

A. Unit of force (i) joule

B. Symbol of iron (ii) HCl

C. Formula of 
hydrochloric acid

(iii) Ag

D. Unit of work (iv)

E. Symbol of silver (v) Calorie

F. Symbol of battery (vi) Fe

(vii) Newton
 Which of the following is not a reason that can be 

given to justify that the item is poorly constructed?
(1) The matching pairs can be easily guessed
(2) There is inconsistency among entries
(3) For an entry in column A here are at the most two 

plausible entries in column B
(4) There are unequal entries in column A and B

76. A body has a linear momentum of p and a mass of m. 
The kinetic energy of the body is :

(1) 
2

2
p
m

 (2) pm

(3) p2m (4) 2p2m
77. Which of the following statements regarding rusting 

of iron are true?
(a) It involves a chemical reaction between iron and 

oxygen
(b) It is an exothermic reaction
(c) It can take place at room temperature
(d) It is reversible reaction
(1) (a) and (d) (2) (a), (b) and (c)
(3) (a), (b), (d) (4) (b) and (c)

78. Identify the correct statements from the following:
(a) Generally non-metals do not react with water.
(b) Generally non-metals do not react with acids.
(1) Both (a) and (b) (2) Neither (a) nor (b)
(3) Only (a) (4) Only (b)

79. Which of the following is the most suitable strategy 
for introducing the students to the concept of 
'chemical reactions' at upper primary level? 
(1) Define a chemical reaction and give examples
(2) Hold a discussion on chemical reactions which 

students are likely to have observed in their lives
(3) Explain the concept of valence electrons and 

electronic configuration
(4) Write the chemical equations in symbolic form 

and ask students to observe
80. Read the following paragraph carefully and select the 

option which would correctly fill in the given order.
 Sound is produced by vibration and different musical 

instruments have specific vibrating parts. In a __X__ 
the sound is produced by stretched strings, in a __Y__  
it is the stretched membrane that vibrates and in a 
__Z__ the vibrating part that produces sound is the 
air column.

 X, Y and Z can respectively be :
(1) guitar, tabla, shehnai
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(2) ektara, violin, piano
(3) sitar, harmonium, dholak
(4) dholak, ektara, mouth organ

81. Which of the following statement(s) is correct?
(1) Fertilisers provide a lot of humus to the soil
(2) Fertilisers increase the number of friendly 

microbes in soil
(3) Fertilisers are richer in specific nutrients as 

compared to manure
(4) Fertilisers enhance the water holding capacity of 

the soil
82. Which of the following is not desirable with respect 

to carrying out of a classroom demonstration by a 
teacher?
(1) Supplement the demonstration with explanations
(2) Follow up the demonstration with discussion
(3) Rehearse the demonstration before carrying it out 

in class
(4) Emphasise before hand the linkages that students 

are required to make
83. A ball is thrown up in the air. It reaches a maximum 

height and then returns to the thorwer.
 Which of the following quantities have the same 

values during the upward and downward motion of 
the ball?
(1) Work done by gravity (2) Acceleration
(3) Force of gravity (4) Displacement

84. Seed dispersal may be said to help the plants in all of 
the following except:
(1) produce new varieties
(2) over crowding
(3) avoid competition for sunlight, water and 

minerals
(4) invade new habitats

85.     X     is a device which is used to see around 
corners and is based on the principle of    X    . X and 
Y respectively are:

 The underlined word can be replaced the word.
(1) Periscope, dispersion
(2) Telescope, reflection
(3) Kaleidoscope, refraction
(4) Periscope, reflection

86. The difference between maximum and minimum 
resistance that can be obtained by connecting three 

resistances 
1
3

W of each is:

(1) 
1
9

W (2) 
2
3

W

(3) 8
9

W (4) 1 W

87. Which of the following gases are responsible for acid 
rain?
(a) Nitrogen (b) Oxygen
(c) Ozone (d) Sulphur dioxide
(e) Nitric oxide
(1) (d) and (e) (2) (a) and (b)
(3) (b) and (c) (4) (c) and (d)

88. Read the following statements and select the correct 
option.

 Assertion (A): Dried raisins when left in plain water 
for sometime swell due to osmosis.

 Reason (R): Plant cells have a selectively permeable 
cell membrane.
(1) (A) is incorrect but (R) is correct.
(2) (A) and (R) are both correct and (R) is the correct 

explanation for (A)
(3) (A) and (R) are both correct but (R) is not the 

correct explanation for (A)
(4) (A) is correct but (R) is incorrect

89. Which of the following is a set of animals in which 
all show external fertilization?
(1) Frogs, fish, starfish
(2) Hens, lizards, butterflies
(3) Lizards, butterflies, frogs
(4) Butterflies, frogs, fish

90. Which of the following element must be available in 
water for the metamorphosis of tadpoles?
(1) Chlorine (2) Bromine
(3) Sulphur (4) Iodine

Language-I: English

Direction (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
1. We were walking across the garden when my 

daughter spotted a cluster of familiar red flowers. 
She pulled me to one side and then, looking excitedly 
at me as though she had a secret to share, she pulled 
me down to her height and whispered in my ears. I 
shot up straight almost as soon as she had finished 
her sentence. With my mouth ajar, I was about to 
tell her that it was probably not a good idea to do so 
when I was transported to time when I was around 
her age.

2. It had been a rather long day from school and I was 
dead tired. I was walking along the pathway that 
was lined with many ixora plants when my friend 
grabbled me by the arm. Before I could do anything, 
he gleefully plucked a single flower from the cluster 
and showed it to me. Unimpressed. I was not about 
to be swayed by a puny flower and was about to 
admonish him when he turned the flower upside 
down to show me a tiny almost invisible thread like 
thing that protruded out from its stalk.

3. He pulled the faint yellowish thread and right at the 
end of it, a tiny drop of nectar appeared. At least, 
that was what I think it was, as it was really quite 
sweet. That day we raided the ixora plants, We really 
had a lot of fun, I could still taste the sweetness till 
today. My daughter's urgent tug brought me back 
to reality. I turned to my daughter and decided that 
she too needed to know the joy of tasting set nectar 
from beautiful blooms.

91. Identify the parts of speech of the underlined words.
 I was transported to the time when I was around her 

age
(1) noun, preposition (2) noun, adverb
(3) noun, verb (4) adjective, preposition

92. From the given anecdote one can assume that the 2 
characters shared the relationship of:
(1) school-mates
(2) grandmother and grand-child
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(3) best friends
(4) mother and daughter

93. 'I was about to admorish him ......... .
 The underlined word can be replaced the word.

(1) refuse (2) cajole
(3) appreciate (4) reprimand

94. 'to be transported in time' means _____.
(1) recollect memories of the past
(2) to take future decisions
(3) travel backwards
(4) to indulge in time travel

95. 'To be dead tired' does not mean-
(1) to be completely exhausted
(2) to feel refreshed
(3) to feel too tired to walk
(4) to be exhausted

96. Complete the word analogy :
cluster : bunch : : puny:  ?     
(1) prickly  (2) long-stalked 
(3) delicate  (4) colourful

97. In para 1, according to the mother it was not a good 
idea to:
(1) walk in the garden the whole day
(2) walk along the pathway alone
(3) taste sweet nectar from flowers
(4) raid the ixora plants

98. Assertion (A): The child was excited to share a secret 
with her mother.

 Reason (R): The mother was in disbelief and went 
down memory lane.

 Choose the correct option.
(1) Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(3) (A) is correct, but (R) is incorrect.
(4) Both (A) and (R) are correct.

99. Read the following sentences 
(a) The writer is traumatised by the memories of her 

childhood.
(b) The daughter's secret brings back nostalgic 

memories of the school days.
(c) The writer wants her child to be connected to the 

sweet pleasures of nature.
(1) (a) and (b) are correct, (c) is incorrect
(2) (b) and (c) are correct, (a) is incorrect
(3) (a) and (c) are correct, (b) is incorrect
(4) (a) and (c) are incorrect, (a) is correct

Direction (100-105): Read the given extract and answer the 
questions that follow. 
 My tea is nearly ready and the sun has left the sky;
 Its time to take the window to see Leerie going by;
 For every night at tea time and before you take your 
seat,
 With lantern and with ladder he comes posting up 
the secret.
 Now Tom would be a driver and Maria may go to 
the sea;
 And my papa's a banker and as rich as he can be;
 But I, when I'm stronger and choose what I'm to do,
 O Leerie, I'll go around at night and light the wit 
you
 For we are very lucky, with a lamp before the door

 And Leerie stops to light it as he lights so many more
 And O! Before you hurry by with ladder and with 
light,
 O Leerie, see a little child and nod to him tonight!
100. The poet looks at the lamp-lighter's profession with-

(1) curiosity (2) confusion
(3) wonder (4) jealousy

101. The phrase, “the sun has left the sky’ indicates that -
(1) it is afternoon  (2) it is evening time,
(3) it is morning  (4) it is forenoon

102. Identify the rhyme scheme in lines 5 - 8,
(1) abab  (2) aaba 
(3) abba (4) aabb

103. Why does the poet consider himself to be fortunate ?
(1) He has light at night by his door.
(2) He is strong and doesn’t have to make a choice 

in life.
(3) He has a rich banker father.
(4) He doesn’t have to light other peoples’ doors.

104. Read the following sentences 
(a) The poet occasionally alight outside his door
(b) The poet wants to be a bunker like his father 

when he grows up.
(c) The poet is fascinated by the lamp lighter's 

profession.
(1) (a) and (b) are incorrect, (c) is correct
(2) (a) and (b) are correct, (c) is incorrect
(3) (a) and (c) are correct, (b) is incorrect
(4) (b) and (c) are correct, (a) is incorrect

105. With reference to the poem, complete the word 
analogy:

 Leerie : lamplighter : : father : ?
(1) sailor (2) banker
(3) rich businessman (4) driver

106. Which of the following is NOT true of Sign 
Language?
(1) Sign language does not have a grammar
(2) Sign language has a grammar
(3) Sign language has many varieties
(4) Sign language is a natural language

107. Following learning task was given to learners in 
different groups. Find out what is this vocabulary 
learning activity known as.

 Find words and phrases which relate to the following 
words.

Family        Relationship       Feeling

(1) Cluster Vocabulary (2) Word Web
(3) Thematic Vocabulary (4) Word clusters

108. Procedural knowledge in the teaching-learning 
grammar is
(1) knowing the rules of the grammatical item,
(2) knowing the language and its culture.
(3) knowing how to do the grammatical item.
(4) knowledge about the grammatical item,

109. A leaner reads through the news item in the 
newspaper to know specific information. This 
reading is known as
(1) Scanning  (2) Study skill
(3) Critical reading  (4) Skimming

110. A language teacher tells a story in English and asks 
learners to work in group to tell the story in the 
languages known to ER and then in the common 
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language of the classroom. What is this pedagogical 
strategy known as ?
(1) Multilanguage teaching 
(2) Language acquisition
(3) Transtanguaging
(4) Multilingual policy

111. Shreya is a Class VI learner who moves from the 
Jalandhar in Punjab to Madurai in Tamil Nadu as her  
father has been transferred. She knows Punjabi as 
her mother tongue and English language she studies 
as her second language in school. She is able to speak 
and read Tamil learning from her neighbourhood. 
Which one of the following statements is true based 
on the languages she now knows?
(1) All the three languages, Punjabi, Tamil and 

English under language learning
(2) Her English comes under language acquisition 

and Punjabi and Tamil come under language 
learning.

(3) Her Punjabi and Tamil come under language 
acquisition and English comes under language 
learning.

(4) Her Tamil comes under language acquisition 
and English and Punjabi come under language 
learning.

112. A teacher of Class VII conducts a pair work activity 
in which the pairs are given a story of ten sentences 
One in the pair reads out the first sentences and the 
other in the pair writes that sentence. Then other in 
the pair read out second sentence and the first in the 
pair writes the second sentence. Likewise the pairs 
complete the whole story. Later they compare their 
writing with the original text given to them. What is 
the activity known as?
(1) Sentence Dictation (2) Mutual Dictation
(3) Mutual Writing (4) Mutual Listening

113. The language we use for day-to-day, face-to-face 
interaction is known as:
(1) Communicative language skills
(2) Interpersonal language proficiency
(3) Cognitive Academic Language Proficiency 

(CALP)
(4) Basic Interpersonal Communication Skills (BICS)

114. A teacher at the secondary Stage gives a text/short 
story and asks them to read and discuss the meaning 
and ideas of the text from the point of view of 
power and justice. What does the teacher attempt to 
develop in the learners ?
(1) Critical language development 
(2) Higher order language skills
(3) Critical literacy skills 
(4) Critical pedagogy

115. A method of teaching in which a teacher and four 
students form a collaborative learning group with 
different roles. Dialogues occur on the content of 
the text passage, which creates a zone of proximal 
development in which reading comprehension 
improves. This method is referred to-as:
(1) Structural Approach 
(2) Model Reading
(3) Grammar Translation Method 
(4) Reciprocal Teaching

116. Remedial teaching is for ;

(1) learners and teachers to understand and modify 
improve their teaching, learning strategies.

(2) learners and teachers to enhance the scores in 
the examination in language paper.

(3) learners who need attention on certain aspects of 
language learning.

(4) teachers who need to modify their teaching for 
certain student to learn the language.

117. What is 'interlingual identification'?
(1) Learner's judgment that the knowledge of the 

native language interferes in the learning of 
second language.

(2) Learner's understanding that learning of 
different languages warrants different abilities.

(3) Learner's judgment that something in the native 
language and something in the target language 
are similar.

(4) Learner's judgment that something the native 
language and something in the target language 
are dissimilar.

118. Malayalam spoken by a particular community in 
Kozhikod is slightly different from the Malayalam 
spoken by others in the same place. What is the 
Malayalam spoken by the particular community 
known as?
(1) Social dialect of Malayalam
(2) They are two different languages
(3) Two varieties of Malayalam
(4) Regional dialect of Malayalam

119. Which of the following is NOT the purpose of 
extensive reading?
(1) Reading for learning grammar
(2) Reading for pleasure
(3) Reading for approciation
(4) Reading for extrapolation

120. Which one of the following is true of the three 
language formula?
(1) Mother tongue/home language/Hindi as the first 

language
(2) Mother tongue/home language/English as the 

first language
(3) Mother tongue/home language/ regional 

language as the first language
(4) English/Hindi/home language/local language as 

the first language

Hkk"kk-I: fgUnh

funsZ'k (91-99): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'uksa ds mÙkj ds :i esa mfpr fodYi dk pyu dhft,µ

 bPNk ls izsfjr gksdj yksx mUufr ds ekxZ ij pyus yxrs gSaA 
viuh ;k=k ds vkjaHk esa os viuh izxfr esa ck/kk Mkyus okys lSadM+ksa 
O;fDrxr vkSj lkekftd [kkfe;ksa dk irk yxkrs gSaA mu vkfnekuoksa 
us lq[k izkIr djus dks viuh lgt bPNk ls izsfjr gksdj Hkh bu 
[kkfe;ksa ds f[kykQ la?k"kZ fd;kA gkykafd izxfr izkIr djus ds fy, dksbZ 
O;ofLFkr rjhdk miyC/k u gksus ds dkj.k os cgqr detksj FksA

 ekuo vfLrRo f=i{kh; gS& HkkSfrd] ekufld vkSj vk/;kfRedA 
viuh ;k=k ds izkjafHkd pj.k esa lqnwj vrhr ds va/ksjs ;qx esa ekuo 
us vdsys HkkSfrd vkSj ekufld {ks=ksa esa izxfr dhA ekuo lajpuk esa 
:ikRed ifjorZu vc Hkh gks jgs gSa vkSj Hkfo"; esa Hkh gksaxsA euq"; 
Hkfo"; esa ,sls mYys[kuh; ifjorZuksa ls xqtjsxk tks vkt ds yksxksa ds 
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fy, yxHkx vifjfpr gksaxsA ge ;g ugha dg ldrs fd mu vkjafHkd 
euq";ksa us okLro esa dksbZ egRoiw.kZ vk/;kfRed izxfr dh FkhA gkykafd 
mUgksus tks Hkh mUufr dh] og fdlh Hkh rjg ls egRoghu ugha FkhA

91. fo'ks"k.k&fo'ks"; dk mnkgj.k ugha gS%
(1) ekuo vfLrRo (2) vk/;kRfed nqfu;k
(3) :ikRed ifjorZu (4) va/ksjs ;qx

92. mUufr izkIr djus ds fy, vko';d gS fd euq";%
(1) vius y{; dh vksj pyrk jgsA
(2) la?k"kZjr jgs vkSj fonzksg djsA
(3) vius [kwfc;ksa dks tku ysaA
(4) viuh dfe;ksa dks tku ysaA

93. ^v/;kRe* 'kCn esa ^bd* izR;; yxkus ij 'kCn cusxk%
(1) vk/;kfRed (2) vk/;kfRed
(3) v/;kfRed (4) vk/;kRehd

94. x|ka'k ds vk/kkj ij dgk tk ldrk gS fd%
(1) ifjorZu vifjiDork dks n'kkZrs gSaA
(2) ifjorZu rhoz xfr ls gksrs gSaA
(3) ifjorZu egRoiw.kZ ugha gksrsA
(4) ifjorZu ekuo thou dk lR; gSA

95. vkfnekuo us ----------- {ks= eas izxfr dh ijarq ----------- {ks= esa izxfr 
ugha dj ldkA
(1) HkkSfrd] vk/;kfRed (2) ekufld] HkkSfrd
(3) vk/;kfRed] HkkSfrd (4) HkkSfrd] ekufld

96. ^ekuo* 'kCn esa fdl izR;; vkSj milxZ dk iz;ksx laHko gS\
(1) br] v (2) bZ;] lq
(3) bZ;] v (4) bZ;] vu

97. ekuo ds dkSu&ls rhu i{k gSa\
(1) HkkSfrd] ekufld] lkalkfjd
(2) HkkSfrd] ekufld] vk/;kfRed
(3) vk/;kfRed] f=i{kh;] HkkSfrd
(4) lkalkfjd] ekufld] vk/;kfRed

98. ^mYys[kuh; ifjorZu* ls rkRi;Z gS%
(1) iqLrdksa esa mfYyf[kr ifjorZu
(2) iqjLd`r ifjorZu
(3) cMs&cM+s ifjorZu
(4) egRoiw.kZ ifjorZu

99. izxfr izkIr djus dk O;ofLFkr rjhdk fdlds ikl ugha Fkk\
(1) lHkh vO;ofLFkr vkfnekuoksa ds ikl
(2) vkfnekuoksa ds ikl
(3) lHkh euq";ksa ds ikl
(4) lHkh vKkuh ekuoksa ds ikl

funsZ'k (100-105): uhps nh xbZ dfork dh iafDr;ksa dks i<+dj lcls 
mfpr fodYi dk pyu dhft,µ

 dV x;k gS 'kh'k ij

 ;s 'kh'k gS >qdk ugha

 jkgh mlh dk uke gS

 tks jkg esa #dk ugha

 ,d fnu izdk'k gksrk gS

 fdruk Hkh va/kdkj gks

 lR; dh fot; lnk

 vlR; dh gkj gksA

  lPpkbZ lkFk esa jgs

  dSlk Hkh viuk var gks

  lR; dh fot; lknk

  vlR; dk gkj gksA

100. bl dfork dk eq[; Loj gS%
(1) J`axkj (2) ns'kHkfDr
(3) rel (4) vkst

101. ^va/kdkj* ---------------  dk izrhd ugha gSA
(1) pqukSfr;k¡ (2) lek/kku
(3) cqjkbZ (4) fujk'kk

102. lewg ls fHkUu&'kCn ;qXe gS%
(1) t;&ijkt; (2) izdk'k&va/kdkj
(3) gkj&fcgkj (4) lR;&vlR;

103. dfork esa ----------- ij lokZf/kd cy fn;k x;k gSA
(1) lR; (2) jkg
(3) izdk'k (4) va/kdkj

104. dfork ds vuqlkj jkgh dh fo'ks"krk gS%
(1) gj ifjfLFkfr esa fot;h jgukA
(2) gj ifjfLFkfr esa dk;Zjr jgukA
(3) gj rjg ls dke fudkyukA
(4) gj rjg ds ekxZ ij pyrs jgukA

105. dfork ds vuqlkj fdlh Hkh fLFkfr esa%
(1) LokfHkeku cuk jguk pkfg,A
(2) nq[kh ugha gksuk pkfg,A
(3) flj ugha dVuk pkfg,A
(4) va/kdkj guah gksuk pkfg,A

106. fuEufyf[kr esa ls dkSu&lk ladsr Hkk"kk ds ckjs esa ugha gS\
(1) ladsr Hkk"kk dh O;kdj.k ugha gksrh gSA
(2) ladsr Hkk"kk esa O;kdj.k gksrh gSA
(3) ladsr Hkk"kk ds cgqr ls izdkj gSA
(4) ladsr Hkk"kk izkd`frd Hkk"kk gSA

107. uhps fn;k x;k vf/kxe dk;Z f'k{kkfFkZ;ksa dks fHkUu&fHkUu lewgksa esa 
djus ds fy, fn;k x;kA irk yxk, fd 'kCn laink ds vf/kxe 
dks bl xfrfof/k dks fdl :i esa tkuk tk,xk\

 fuEufyf[kr 'kCnksa ls lacaf/kr 'kCn vkSj okD;ksa dk irk yxkb,%

ifjokj     laca/k     Hkkouk,¡

(1) lewg 'kCnkoyh (2) 'kCn tky
(3) Fkhe vk/kkfjr 'kCnkoyh (4) 'kCn lewg

108. O;kdj.k ds f'k{k.k vf/kxe esa izfØ;kRed Kku D;k gS\
(1) O;kdjf.kd rRoksa ds fu;eksa dks tkuukA
(2) Hkk"kk vkSj mldh laLd`fr dks tkuukA
(3) ;g tkuuk fd O;kdjf.kd iz'u@rRoksa dks dSls fd;k tk,A
(4) O;kdjf.kd rRoksa ds ckjs esa KkuA

109. ,d f'k{kkFkhZ fdlh fof'k"V tkudkjh izkIr djus ds fy, lekpkj 
i= ls lekpkj i<+rh gSA bl iBu dks D;k dgsaxs\
(1) ckjhdh ls iBu (2) v/;;u dkS'ky
(3) lekykspukRed fparu (4) ljljh rkSj ij iBu
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110. ,d Hkk"kk v/;kid vaxzsth esa dgkuh lqukrh gS vkSj f'k{kkfFkZ;ksa ls 
dgrh gS fd mUgsa tks Hkh Hkk"kk vkrh gS] ml Hkk"kk esa ;g dgkuh 
lewg esa lquk,¡ fQj d{kk dh lkekU; Hkk"kk esa ;gh dgkuh lquk,¡A 
bl f'k{k.k'kkL=kh; ;qfDr dks fdl :i esa tkuk tkrk gS\
(1) cgqHkk"kk f'k{k.k
(2) Hkk"kk&vtZu
(3) ijHkk"kk O;ogkj (VªkalySX;qftax)
(4) cgqHkkf"kd uhfr

111. d{kk 6 dh f'k{kkFkhZ Js;k vius firk ds LFkkukarj.k ds dkj.k 
iatkc ds tkya/kj ls rfeyukMq ds enqjbZ tkrh gSA og ekr`Hkk"kk 
ds dkj.k iatkch tkurh gS vkSu fo|ky; esa f}rh; Hkk"kk ds :i 
esa vaxzsth Hkh tkurh gSA mlus vius iM+ksfl;ksa dh enn rfey 
cksyuk vkSj i<+uk lh[k fy;k gSA mlds }kjk tkuh xbZ Hkk"kkvksa 
ds lanHkZ esa dkSu&lk dFku lgh gS\
(1) lHkh rhu Hkk"kk,¡ iatkch] rfey o vaxzsth Hkk"kk vf/kxe ds 

vUrxZr vk,xhA
(2) vaxzsth Hkk"kk vtZu vkSj iatkch rFkk rfey Hkk"kk vf/kxe ds 

vUrxZr gSA
(3) iatkch vkSj rfey Hkk"kk vtZu gS vkSj vaxzsth Hkk"kk vf/kxe 

ds vUrxZr vk,xhA
(4) rfey Hkk"kk vtZu vkSj vaxzsth rFkk iatkch Hkk"kk vf/kxe ds 

vUrxZr vk,xhA

112. d{kk lkr dh v/;kfidk tksfM+;ka esa dk;Z djokus okyh xfrfof/k 
djok jgh gS ftlesa lHkh tksfM+;ksa dks nl okD;ksa dh dgkuh ij 
dke djus ds fy, nsrh gSA igyh tksM+hnkj igyk okD; i<+rh 
gS vkSj nwljh tksM+hnkj ml okD; dks fy[krh gSA vc nwljh 
tksM+hnkj nwljk okD; i<+rh gS vkSj igyh tksM+hnkj ml nwljs 
okD; dks fy[krh gSA bl rjg ls nksuksa tksM+hnkj dgkuh iwjh djrs 
gSaA ckn esa os ewy dgkuh ls vius fy[ks gq, dh rqyuk djrs gSaA 
bl xfrfof/k dks D;k dgsaxs\
(1) okD; Jqrys[k (2) ikjLifjd Jqrys[k
(3) ikfjLifjd ys[ku (4) ikfjLifjd Jo.k

113. og Hkk"kk D;k gS ftldk iz;ksx ge fnu&izfrfnu ds fy, 
vkeus&lkeus dks var%fØ;k ds fy, djrs gSa\
(1) lEizs"k.kkRed Hkk"kk dkS'ky
(2) vUrjoS;fDrd Hkk"kk fuiq.krk
(3) laKkukRed vdknfed Hkk"kk fuiq.krk (CALP)
(4) cqfu;knh varjoS;fDrd lEizs"k.k dkS'ky (BICS)

114. fefMy Lrj ij v/;kiu djus okyh v/;kid ,d ikB; lkexzh@
NksVh dgkuh iBu ds fy, nsrh gS vkSj dgrh gS fd lÙkk ,oa U;k; 
ds n`f"Vdks.k ls bl ikB; lkexzh ds vFkZ o fopkjksa ij ppkZ djksA 
v/;kid vius f'k{kkfFkZ;ksa esa fdldk fodkl djus dh ps"V dj 
jgh gS\
(1) lekykspukRed Hkk"kk fodkl
(2) mPp Lrjh; Hkk"kk dkS'ky
(3) lekykspukRed lk{kjrk dkS'ky
(4) lekykspukRed f'k{k.k'kkL=

115. f'k{k.k dh fof/k ftlesa v/;kid vkSj pkj fo|kFkhZ fofHkUu 
Hkwfedkvksa ds lkFk ,d lg;ksxkRed vf/kxe lewg dk xBu djrs 
gSaA ikB~;oLrq dh fo"k;oLrq ij laokn fd;k tkrk gS] ftlls 

lehiLFk fodkl dk {ks= l`ftr gksrk gS vkSj ifj.kker% iBu cks/k 
esa lq/kkj gksrk gSA bl fof/k dks D;k dgsaxs\
(1) lajpukRed mikxe (2) ekWMy iBu
(3) O;kdj.k vuqokn fof/k (4) ikjLifjd f'k{k.k

116. mipkjkRed f'k{k.k fdlds fy, gS\
(1) mu f'k{kkfFkZ;ksa vkSj v/;kidksa ds fy, ftUgsa vius f'k{k.k@

vf/kxe ;qfDr;ksa dks le>us vkSj cnyus@lq/kkj ykus dh 
t:jr gSA

(2) mu f'k{kkfFkZ;ksa vkSj v/;kidksa ds fy, tks Hkk"kk dh ijh{kk esa 
vf/kd vad ykuk pkgrs gSaA

(3) mu f'k{kkfFkZ;ksa ds fy, ftUgsa Hkk"kk vf/kxe ds dqN vk;keksa 
ij /;ku nsus dh vko';drk gSA

(4) mu f'k{kkfFkZ;ksa ds fy, ftUgsa Hkk"kk lh[kus okys dqN fo|kfFkZ;ksa 
ds fy, vius f'k{k.k esa lq/kkj dh t:jr gSA

117. ^varjHkkf"kd igpku* D;k gS\
(1) f'k{kkFkhZ dk ;g fu.kZ; fd lgtkr Hkk"kk dk Kku f}rh; Hkk"kk 

ds vf/kxe esa vojks/k iSnk djrk gSA
(2) f'k{kkFkhZ dh ;g le> dh fofHkUu Hkk"kkvksa dk vf/kxe 

fofHkUu ;ksX;rkvksa dk vk/kkj@levk'oklu gSA
(3) f'k{kkFkhZ ds fu.kZ; dqN rks lgtkr Hkk"kk esa vkSj dqN y{; 

Hkk"kk esa leku gksrk gSA
(4) f'k{kkFkhZ ds fu.kZ; lgtkr Hkk"kk esa dqN vkSj y{; Hkk"kk esa 

dqN vleku gksrs gSaA

118. dks>hdksfM esa ,d fo'ks"k leqnk; esa cksyh tk jgh ey;kye blh 
LFkku esa nwljksa ds }kjk cksyh tk jgh ey;kye ls FkksM+h lh fHkUu 
gSA fo'ks"k leqnk; }kjk cksyh tk jgh ey;kye dks fdl :i esa 
tkuk tk,xk\
(1) ey;kye dh lkekftd cksyhA
(2) ;s nks fHkUu&fHkUu Hkk"kk,a gSaA
(3) ey;kye ds nks izdkjA
(4) ey;kye dh {ks=h; cksyhA

119. fuEufyf[kr esa ls dkSu&lk foLr`r iBu dk mís'; ugha gS\
(1) O;kdj.k vf/kxe ds fy, iBu
(2) vkuUn ds fy, iBu
(3) ljkguk cks/k ds fy, iBu
(4) cfgoZ'ku (,DLVªkiksys'ku) ds fy, iBu

120. f=Hkk"kk lw= ds ckjs esa dkSu&lk dFku lgh gS\
(1) ekr`Hkk"kk@?kj dh Hkk"kk@fganh izFke Hkk"kk ds :i esaA
(2) ekr`Hkk"kk@?kj dh Hkk"kk@vaxzsth izFke Hkk"kk ds :i esaA
(3) ekr`Hkk"kk@?kj dh Hkk"kk@{ks=h; Hkk"kk izFke Hkk"kk ds :i esaA
(4) vaxzsth@fganh@?kj dh Hkk"kk@LFkkuh; Hkk"kk izFke Hkk"kk ds :i 

esaA

Language-II: English

Direction (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
1. 'The loss in earnings that farmers see due to extreme 

weather events or erratic seasonality is, by now, 
accepted as the most widely felt economic impact 
of climate change. Farmers were the first people to 
feel the impacts of climate change, which ultimately 
affects the country's overall agricultural output and 
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adds to food inflation. High food prices, in turn, 
could result in people slashing down consumption, 
which adversely te nutritional security.

2.  A significant number of farming households produce 
food for their own consumption. These households 
have given birth to an old saying: those who eat their 
own food are the healthiest. In countries like India, 
where malnutrition is high and fixed insecutiry is 
a nagging constant, such households have used 
the home production system to remain out of this 
crisis. As studies point out, these households are also 
protected from market fluctuations, thus ensuring 
that they can afford healthy food. Obviously, they 
are not impacted by food inflation either.

3. But there are serious conversations taking places 
over how climate change induced extreme weather 
events would impact such households. We need 
to understand the link between nutrition intake 
and households food production and wheather 
weather fluctuations would have any impact on 
this. Researchers have analysed village level data 
from households with their own food production 
and consumption, and co-related this with the 
local weather conditions to inter whether there 
was a correlation. The paper establishes that people 
growing their own food consume more, thus adding 
to nutrition levels and attaining overall food security. 
There was also reduction in child stunting and 
underweight conditions as well as women achieving 
a normal body mass index. These trends are more 
pronounced in remote vilages.

121. Complete the given work analogy :
 local : global : : erractic : ?

(1) disputable (2) dependable
(3) believable (4) consistent

122. As mentioned in para 1, what is the series of events 
that are triggered by climate change?
(a) increase in prices of food items
(b) detrimental effect on nutritional security
(c) extreme weather conditions
(d) reduced food consumption
(1) (b), (c), (d), (a) (2) (c), (b), (d), (a)
(3) (a), (d), (c), (b) (4) (c), (a), (d), (b)

123. What is correct about the health status of farmers 
who take to household food production?
(1) stunted growth of children
(2) wonen with higher body mass index
(3) children and malnourished
(4) better nutritional intake

124. Read the following sentenes:
(a) A significant number of Indian households afford 

healthy food.
(b) Household food production has limited in on 

food inflation
(c) Food insecurity in an occassional phenomenon 

in India.
(1) (a) and (b) are incorrect, (c) is correct
(2) (b) and (c) are incorrect, (c) is correct
(3) (a), (b) and (c) are all incorrect
(4) (a) and (c) are incorrect, (b) is correct

125. Which statement is incorrect with regard to 
household food production ?
(1) Women enjoyed normal body mass index
(2) Increase in number of malnourished children

(3) Nutritional intake was better
(4) Food consumption in such households was 

higher
126. By which word can the underlined word be replaced 

in the given sentence ?.
 ‘These trends are more pronounced in remote areas,’

(1) noticeable  (2) ignored 
(3) disrezarded  (4) important

127. Identify the parts of speech of the underlined words,
 A significant number of farming households produce 

food for their own consumption.
(1) noun, adjective  (2) noun, pronoun
(3) adjective, pronoun  (4) adverb, pronoun

128. Some households have remained out of the crisis of 
food insecurity by adopting -
(1) protection from extreme weather conditions
(2) home production systems
(3) high food prices
(4) climate change conditions

Direction (129-135): Read the given extract and answer the 
questions that follow:
1. Untouchable, a charming French comedy about two 

friends who have almost nothing in common, has 
been a huge internationa success. But below the 
story became a cinematic sensation, how exactly did 
a rich French aristocrat and an Algerian immigrant 
with a criminal past become good friends? Philip 
and Abdul first met in Paris in 1993 when Philip was 
looking for a nurse. He was from a very wealthy 
family. At one time he had been a successful business 
man, living a life of great luxury. Then he had a 
terrible paragliding accident and lost the use of his 
arms and legs. Life in a wheelchair was lonely and 
boring. Philip was struggling to imagine the future, 
and he needed practical help with his day-to-day 
life.

2. Philip interviewed more than 80 people for the job 
of a nurse. But none of them seemed right. Then he 
met Abdul, who had quit a life of crime in Algeria 
and moved to France to look for work. He was lively, 
intelligent and quick thinking, with a crazy sense 
of humour. Philip got on with Abdul immediately, 
and he affered him the job. The two men didn't 
have much in common. Abdul loved pop music, but 
Philip preferred classical music. Philip loved modern 
art, but Abdul hated it. Philip's family was sure that 
he had made a bad choice. They believed that Philip 
needed someone much more sensible. Meanwhile, 
Abdul wasn't planning on staying it he job for long.

3. However, their working relationship quickly 
developed into a close friendship. Abdul gave Philip 
the support he needed. More importantly, his energy 
and sense of humour brought fun and excitement 
back into Philip's life. Abdul helped Philip make 
trips to other countries. Both of them now live in 
different countries each with a wife and family. 
They keep in touch regularly. All that really matters 
to their friendship though, it is their shared love of 
laughter and adventure.

129. Which aspect of Abdul's personality is not true?
(1) He shared a close rapport with his employer
(2) He preferred listening to classical music
(3) He had a criminal past record
(4) He was quick-witted and supportive.
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130. Read the sentences given below :
(a) ‘Untouchable’ is a French comedy movie.
(b) The theme revolves around 2 friends, Philip and 

Abdul, who have similar tastes,
(c) The movie was a huge success in France and 

Algeria.
(1) (b) and (c) are incorrect, (a) is correct
(2) (a) and (b) are correct, (c) is incorrect
(3) (a), (b) and (c) are all incorrect
(4) (a) and (c) are correct, (b) is incorrect

131. What bound the two very different men together for 
years ?
(1) love for music  
(2) their immigration status
(3) their love for adventure sports 
(4) warm friendship

132. Complete the given word analogy:
 Luxury : opulence : : sensation : ?

(1) feeling (2) suspicion
(3) disaster (4) callousness

133. Identify the parts of speec of the underlined words.
 However, their working relationship quickly 

developed into a close friendship.
(1) adjective, verb (2) noun, adjective
(3) adjective, adverb (4) verb, adverb

134. Abdul migrated to France to
(1) listen to pop music
(2) searchfor employment
(3) work in the movie industry
(4) run away from the Algerian police

135. Why did Philip need a nurse?
(1) To listen to classical music together
(2) To resolve Abdul's immigation status
(3) To wipe out Abdul's crimina past.
(4) To help him with day-to-day practical things of 

life.
136. Which of the following is NOT true of National 

Education Policy 2020 on language education?
(1) Study of Indian languages under three language 

formula
(2) Study of English as languages under three 

language formula
(3) Study of classical languages under three language 

formula
(4) Study of mother tongue/home language under 

three language formula
137. A teacher in class VIII read out a text of five sentences 

in English twice and asked her learners to listen to 
the text carefully. Then she asked them to work in 
group of four to recreate text nearest to the one road 
out, not exactly the same. What is the activity known 
as ?
(1) Collective Dictation (2) Listening task
(3) Writing task (4) Paragraph Dictation

138. Which of the following processes involved for 
learning to write well in a language ?
(1) Braining storming - jotting down points = 

writing the draft - editing - making an outline - 
finalizing,

(2) Braining storming = jotting down points = 
making an outline - writing the craft = editing = 
finalising.

(3) Braining storming = making an outline - drafting 
- jotting down points = editing - finalizing.

(4) Braining storming - jotting down points = 
writing the draft - making an outline - editing - 
finalising,

139. Which one of the following statements is true of 
language learning, ?
(1) Knowledge of the native/ first language supports 

in the learning of second language.
(2) First language learning and second language are 

completely distinct.
(3) Knowledge of the native; first language interferes 

in the learning of second language.
(4) Knowledge of the native, first language has 

nothing to do in the learning of second language.
140. Elam is a student of class VI is able to speak four 

languages, Kannada, Marathi, Hindi and English. 
He uses all the four languages freely when he speaks 
to his parents at home and in school he uses Hindi, 
Kannada and English as these are the language 
known to his friends and teachers. What is this 
practice known as ?
(1) Code-moving  (2) Interlanguage
(3) Transtingual ability  (4) Code-meshing

141. This refers to the proficiency in academic language 
or language needed for various content areas.
(1) Communicative language proficiency
(2) Cognitive Academic Language Proficiency 

(CALP)
(3) Inter-language proficiency
(4) Basic Interpersonal Communication Skills (BICS)

142. Here is a situation where students were exposed 
to the opposite perspective of the subject under 
consideration to allow them to further understand it. 
What does this process attempt to promote among 
learners ?
(1) Critical Literacy
(2) Literacy development
(2) Critical analysis
(4) Process based pedapogy

143. A teacher of class VI brought items like spoon, 
plate, utensils, boxes and pan to her classroom to 
teach vocabulary from there writing a description of 
objects in ‘kitchen, what are these objects known as 
in language teaching ?
(1) Cooking items.  (2) Real life tasks
(3) Teaching materials  (4) Realia

144. Learners in a class of Social Science try to capture 
the main ideas of the classroom lecture and make 
point of the lecture, What is this skill known as ?
(1) Writing skill  (2) Cognitive skill
(3) Study skill  (4) Listening skill

145. Learning outcomes attempt to enable learner to:
(1) attain minimum levels of learning of all skills. 
(2) attain language components in measurable 

terms. 
(3) attain the grammatical knowledge in measurable 

terms.
(4) attain the competencies in measurable terms.

146. What is Translanguaging’ ?
(1) It is a pedagogical process of using more than 

one language as resources in a Classroom.
(2) It is language-in-education policy on how many 

languages are to be taught in a school,
(3) It refers to moving from one language to another 

language while teaching-learning languages.
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(4) It refers to understanding how languages change 
over the period of time.

147. Here is a question, Read and find out which typology 
of question it belongs to.

 Having read the story of the little girl, you feel moved 
by her suffering and courare to face the trouble. ‘You 
would write a letter to the little girl appreciating her. 
Write the letter in about 120 words,
(1) Extrapolative question
(2) Discursive question
(3) Expressive guesions 
(4) Long answer question

148. Which one of the following is true of the three 
Language formula?
(1) All children begin their schooling in the official 

language. Hindi and move on to add at least 
twao more languages by the time they complete 
their high school

(2) All children begin their schooling in their mother 
tongue/home languages and move on to add 
at least two more languages by the time they 
complete their high school.

(3) All children begin their schooling in the medium 
of English/home language and move on to add 
at least two more languages by the time they 
complete their high school.

(4) All children begin their schooling in their state 
language and move on to add at least two more 
languages by the time they complete their high 
school.

149. Which of the following methods advocates oral 
drilling and mastery of the formal properties of 
language as essential for language learning?
(1) Grammar translation method
(2) Total Physical Response
(3) Audiolingualism
(4) Communicative language teaching

150. Declarative knowledge is ________
(1) knowing how to identify an error in grammatical 

item
(2) knowing how to do the grammatical item
(3) knowing to pronounce work in a language.
(4)  knowing about the grammatical item

Hkk"kk-II: fgUnh

funsZ'k (121-150): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk pyu dhft,µ

 gky gh esa esfMdy baMLVªh ds ,d tkudkj nkok dj jgs Fks fd 
Hkfo"; esa MkWDVjksa ltZuksa dh t:jr Hkh de gksus okyh gSA ,vkbZ ds 
tfj, y{k.kksa dks le>k tk,xkA vkidh dsl fgLVªh ,vkbZ dks irk 
gksxhA rktk gkyr iwN yh tk,xh vkSj fizfLØI'ku vkids gkFk esa gksxkA 
'kkjhfjd Je ls tqM+s dkeksa ij 'kk;n lcls de vlj iM+us okyk gSA 
;g le>us dk oDr gS fd ,vkbZ ls Qk;ns gksaxs ;k uqdlkuA vHkh rks 
bl udh cqf¼erk dks bZalku us gh tUe fn;k gSA mldk fu;a=.k gS] 
ysfdu ,vkbZ ojnku gh jgs vkSj HkLeklqj u cus] mlds fy, ;g lkspus 
dh t:jr Hkh gS fd ekuh; cqf¼erk ds Lrj dh brj Å¡pk dSls mBk;k 
tk, fd ,vkbZ ,l ij gkoh u gks ldsA vc vxj pSV thihVh cuk;k 
gS rks fQj i<+kbZ&fy[kkbZ vkSu bErgkuksa dk og rjhdk dkSu lk gS] tks 
fcuk ,vkbZ ds ;qokvksa vkSj cPpksa ds ckSf¼d Lrj dks ij[k ldsA

 ;g loky ,sls gS ftuds tokc ns ikuk eqf'dy gS] ij utj 
t:j j[kuh pkfg,A oSKkfudksa dks Hkh r; djuk pkfg, fd ,vkbZ ,slh 
gks tks balkfuf;r QSykus esa ennxkj gksA

121. ^ekuoh;* 'kCn esa izR;; gS%
(1) bZ; (2) b;
(3) oh; (4) ;

122. ^,vkbZ* dk vFkZ gS%
(1) vkfVZfQ'k;y baLVhV~;wV
(2) ,iy baLVhV~;w'ku
(3) ,iy baVsyhtsal
(4) vkfVZfQf'k;y baVsyhtsal

123. ,vkbZ 'kkjhfjd Je ls tqM+s dk;ksZa ij laHkor% lcls de izHkko 
MkysA blesa dkSu&lk dk;Z izHkkfor ugha gksxk\
(1) [ksrh&ckM+h (2) vkfo"dkj
(3) fpfdRlk (4) f'k{k.k

124. x|ka'k ds vk/kkj ij dgk tk ldrk gS fd ,vkbZ ,slh gksuh pkfg, 
tks%
(1) de le; esa vf/kd dk;Z djsaA
(2) fcuk cqf¼ ds lkjs tokc ns nsaA
(3) ekuoh; {kerkvksa dks de djsaA
(4) ekuoh; xq.kksa dk laLdkj nsaA

125. fpfdRlk ls tqM+s dk;Z djus esa ,vkbZ Hkfo"; esa D;k lg;ksx 
djsxk\
(1) vLirkyksa dh la[;k de dj nsxkA
(2) vLirkyksa dh la[;k cgqr c<+k nsxkA
(3) MkWDVjksa dks tkWc nsxkA
(4) dsl fgLVªh cuk nsxkA

126. ,vkbZ dks tUe nsus okyk dkjd gS%
(1) lH;rk (2) ekuo
(3) vko';drk (4) rduhd

127. lewg ls fHkUu 'kCn gS%
(1) dadM+&iRFkj (2) pk;&ok;
(3) i<+kbZ&fy[kkbZ (4) jkr&fnu

128. ,vkbZ ls f'k{kk txr Hkh izHkkfor gksxkA ;g izHkko%
(1) ldkjkRed gksxk (2) vf/kd gksxk
(3) udkjkRed gksxk (4) 'kwU; gksxk

funsZ'k (129-135): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk pyu dhft,µ

 iz'u mBrk gS fd izk.k dk 'kjhj ds lkFk csgrj rkyesy dSl 
cSBkdj j[kk tk,A ,slk D;k djsa fd izk.k 'kjhj ds gj vax dks rjg 
larqfyr vkSj O;ofLFkr gksdj cgsA ns[kk tk, rks chekjh vkSj dqN 
Hkh ughaa] cfYd izk.k dk ml vax fo'ks"k ls vlarqfyr gks tkuk gh gSA 
LokLF; dk vFkZ gh gksrk gS& izk.k dk leqfpr rjhds ls leLr vaxksa dh 
rjQ cgukA ;ksx esa bl izk.k dh cy nsus ds fy, vusd vH;kl gSA 
buds tfj, ge vius izk.k dks jkst cy ns ldrs gSa vkSj 'kjhj esa gkus 
okyh chekfj;ksa dh jksdFkke dj ldrs gSaA ;g izk.k dsoy gekjs 'kjhj 
dh gh laHkky ugha djrk] ;g eu] cqf¼ vkfn izR;sd vk;ke dks thou 
nsrk jgrk gSA

129. vPNs LokLF; dk laca/k ------------- ls gSA
(1) ;ksxkH;kl (2) chekfj;ksa ds vHkko
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(3) vPNs 'kjhj (4) izk.k&ok;q

130. thou ds fy, lokZf/kd egRoiw.kZ gS%
(1) izk.k vkSj  'kjhj dk nh?kkZ;q gksukA
(2) izk.k vkSj 'kjhj dk lkeatL;A
(3) ;ksx ds ek/;e ls izk.kk;ke djukA
(4) izk.k ds ek/;e ls ;ksx djukA

131. izk.k ok;q dks l'kDr cukus ds vH;kl ---------------- esa gSA
(1) fpfdRld (2) f'k{kd
(3) f'k{kk (4) ;ksx

132. fo'ks"k.k 'kCn dk mnkgj.k ugha gS%
(1) LokLF; (2) O;ofLFkr
(3) larqfyr (4) LoLFk

133. ^cqf¼* esa ^bd* izR;; yxus ij 'kCn cusxk%
(1) cksf¼d (2) ckS¼hd
(3) cqf¼d (4) ckSf¼d

134. jksx dk dkj.k gS%
(1) ;ksx ds ek/;e ls 'kkjhfjd 'kfDr ?kVkuk
(2) vius 'kjhj dh mfpr ns[kHkky u djuk
(3) izk.k ok;q dk cgqr vf/kd c<+ tkuk
(4) izk.k ok;q dk vax fo'ks"k esa vlarqyu

135. izk.k ok;q 'kjhj ds gj vax esa larqfyr vkSj ------------ gksdj cgrh 
gSA
(1) mÙksftr (2) ean&ean
(3) O;ofLFkr (4) vO;ofLFkr

136. Hkk"kk f'k{kk ij jk"Vªh; f'k{kk uhfr 2020 ds lanHkZ esa dkSu&lk 
dFku lgh ugha gS\
(1) f=Hkk"kk lw= ds vUrxZr Hkkjrh; Hkk"kkvksa dk v/;;uA
(2) f=Hkk"kk lw= ds vUrxZr Hkk"kk ds :i esa vaxzsth Hkk"kk dk 

v/;;uA
(3) f=Hkk"kk lw= ds vUrxZr 'kkL=h; Hkk"kk dk v/;;uA
(4) f=Hkk"kk lw= ds vUrxZr ekr`Hkk"kk@?kj dh Hkk"kk dk v/;;uA

137. d{kk vkB dh v/;kfidk ,d ikB; lkexzh ds ikap okD;ksa dks nks 
ckj vaxzsth esa i<+rh gS vkSj f'k{kkfFkZ;ksa dks /;kuiwoZd lwuus ds 
fy, dgrh gSA blds ckn og f'k{kkfFkZ;ksa dks pkj&pkj ds lewg 
esa dke djus ds fy, dgrh gS fd os i<+h xbZ ikB~; lkexzh dk 
iquysZ[ky djsa tks ,dne ewy tSlk uk gksA bl xfrfof/k dks D;k 
dgsaxs\
(1) lkewfgd Jqrys[k (2) Jo.k dk;Z
(3) ys[ku dk;Z (4) vuqPNsn Jqrys[k

138. fuEufyf[kr esa ls dkSu&lh izfØ;k,¡ Hkk"kk dks vPNh rjg ls 
fy[kuk lh[kus esa 'kkfey gS\
(1) ekul eaFku&eq[; fcUnq uksV djuk&izk:i fy[kuk &:ijs[kk 

rS;kj djuk&vfUre Lo:i nsuk
(2) ekul eaFku& eq[; fcUnq uksV djuk &:ijs[kk rS;kj 

djuk&izk:i fy[kuk&laiknu& vfUre Lo:i nsuk
(3) ekul eaFku&:ijs[kk rS;kj djuk&izk:i.k& eq[; fcUnq uksV 

djuk&laiknu& vfUre Lo:i nsuk
(4) ekul eaFku& eq[; fcUnq uksV djuk &izk:i fy[kuk&:ijs[kk 

rS;kj djuk& laiknu& vfUre Lo:i nsuk

139. Hkk"kk vf/kxe ds ckjs esa dkSu&lk dFku lgh gS\

(1) lgtkr@izFke Hkk"kk dk Kku f}rh; Hkk"kk ds vf/kxe dks 
lefFkZr djrk gSA

(2) izFke Hkk"kk vf/kxe vkSj f}rh; Hkk"kk nksuksa iwjh rjg ls 
vyx&vyx gSA

(3) lgtkr@izFke Hkk"kk dk Kku f}rh; Hkk"kk ds vf/kxe esa 
vojks/k Mkyrk gSA

(4) lgtkr@izFke Hkk"kk ds Kku f}rh; Hkk"kk ds vf/kxe ls dksbZ 
ysuk&nsuk ugha gSA

140. d{kk lkr dk fo|kFkhZ ,sye dUuM] ejkBh] fganh vkSj  vaxzsth pkj 
Hkk"kk,¡ tkurk gSA ?kj esa tc og vius ekrk&firk ds lkFk ckr 
djrk gS rks izokg ds lkFk pkjksa Hkk"kk,¡ cksyrk gS vkSj fo|ky; 
esa og fganh] dUuM+ rFkk vaxzsth cksyrk gS D;ksafd mlds fe= o 
v/;kidksa dks ;gh Hkk"kk,¡ vkrh gSaA bl fLFkfr dks fdl :i esa 
tkuk tk,xk\
(1) dksM ls vkxs tkuk (dksM ewfoax)
(2) vUrjHkk"kk (baVjySaX;q,t)
(3) ijHkkf"kd (VªkalfyaX;qy) ;ksX;rk
(4) dksM tky (dksM eSf'kax)

141. ;g vdknfed Hkk"kk ;k fofHkUu izdkj ds fo"k;ksa ds fy, vko';d 
Hkk"kk esa fuiq.krk ls lacaf/kr gS%
(1) lEizs"k.kkRed Hkk"kk fuiq.krk
(2) laKkukRed vdknfed Hkk"kk fuiq.krk (CALP)
(3) varjHkk"kk fuiq.krk
(4) cqfu;knh varjoS;fDrd lEisz"k.k dkS'ky (BICS)

142. ogk¡ ,d ,slh fLFkfr nh tk jgh gS tgk¡ fo|kfFkZ;ksa dks fo"k; ds 
izfr le> cukus ds fy, fo"k; ds foijhr okys n`f"Vdks.k ls 
ifjfpr djok;k tkrk gSA bl izfØ;k }kjk fo|kfFkZ;ksa esa fdlds 
fodkl dk iz;kl fd;k tk jgk gS\
(1) lekykspukRed lk{kjrk
(2) lk{kjrk fodkl
(3) lekykspukRed fo'ys"k.k
(4) izfØ;k vk/kkfjr f'k{k.k'kkL=

143. d{kk Ng dh v/;kfidk 'kCnkoyh le`¼ djus ds fy, pEep] 
IysV] fMCcs] ijkr d{kk esa ysdj vkrh gSA bUgsa fn[kkdj og jlksbZ 
esa bLrseky gksus okyh oLrqvksa dk fooj.k fy[kuk pkgrh gSA Hkk"kk 
f'k{k.k ds lanHkZ esa bu oLrqvksa dks D;k dgsaxs\
(1) [kkuk idkus ds crZu (2) okLrfod thou ds dk;Z
(3) f'k{k.k lkexzh (4) okLrfod oLrq,¡ (jh;fy;k)

144. lkekftd foKku dh d{kk esa f'k{kkFkhZ d{kk esa fn, tk jgs oDrO; 
ls eq[; fcUnq le>us dh dksf'k'k dj jgs gSa vkSj eq[; fcUnq fy[k 
jgs gSaA bl dkS'ky dks D;k dgsaxs\
(1) ys[ku dkS'ky (2) laKkukRed dkS'ky
(3) v/;;u dkS'ky (4) Jo.k dkS'ky

145. vf/kxe izfrQy f'k{kkfFkZ;ksa dks leFkZ cukrs gSa%
(1) lHkh dkS'kyksa ds vf/kxe ds U;wure Lrjksa dks izkIr djuk
(2) Hkk"kkxr rF;ksa dks ekiu ds lanHkZ esa izkIr djuk
(3) O;kdjf.kd Kku dks ekiu ds lanHkZ esa izkIr djuk
(4) n{krkvksa dh ekiu ds lanHkZ esa izkIr djuk

146. ^ijHkk"kk O;ogkj* (VªkaUlyhX;qftax) D;k gS\
(1) ,d d{kk esa ,d ls vf/kd Hkk"kkvksa dks lalk/ku ds :i esa 

bLrseky djus dh f'k{k.k 'kkL=h; izfØ;k gSA
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(2) fo|ky; esa fdruh Hkk"kk,¡ i<+kuh pkfg, bl eqís ij ^f'k{kk 
uhfr esa Hkk"kk* gSA

(3) Hkk"kkvksa ds f'k{k.k vf/kxe ds nkSjku ,d Hkk"kk ls nwljh  
Hkk"kk esa O;ogkj djus ls lacaf/kr gSA

(4) Hkk"kk,¡ fdl rjg ls ,d le; vof/k ds nkSjku viuk :i 
cnyrh gSA

147. uhps fn, x, iz'u dks i<+saA irk djsa fd ;g iz'u fdlh izk:i 
(Vkbiksyksth) dk gS\

 ^^NksVs ckfydk dh dgkuh i<+us ds ckn vkius mlds nq[kh vkSj 
dfBukb;ksa dk lkeuk djus okys lkgl dks eglwl fd;kA

 vki ml yM+dh dks mldh iz'kalk ds fy, i= fy[kuk pkgsaxsA 
yxHkx 120 'kCnksa esa i= fyf[k,A**
(1) ikB dk foLrkj djus okyk iz'u (,DLVªkiksysfVo)
(2) foe'kZ laca/kh iz'u
(3) vfHkO;fDrijd iz'u
(4) nh?kZ mÙkjh; iz'u

148. fuEufyf[kr esa ls f=Hkk"kk lw= ds laca/k esa dkSu&lk dFku lgh 
gS\
(1) lHkh cPps viuh fo|ky;h f'k{kk jkT; Hkk"kk fganh ls 'kq: 

djrs gSa vkSj nloha iwjh djus rd de ls de nks vkSj Hkk"kk,¡ 
lh[krs gSaA

(2) lHkh cPps viuh fo|ky;h f'k{kk ekr` Hkk"kk@?kj dh Hkk"kk ls 
'kq: djrs gSa vkSj nloha iwjh djus rd de ls de nks vkSj 
Hkk"kk,¡ lh[krs gSaA

(3) lHkh cPps viuh fo|ky;h f'k{kk vaxzsth ek/;e@?kj dh Hkk"kk 
ls 'kq: djrs gSa vkSj nloha iwjh djus rd de ls de nks 
vkSj Hkk"kk,¡ lh[krs gSaA

(4) lHkh cPps viuh fo|ky;h f'k{kk vius jkT; dh Hkk"kk ls 'kq: 
djrs gSa vkSj nloha iwjh djus rd de ls de nks vkSj Hkk"kk,¡ 
lh[krs gSaA

149. fuEufyf[kr esa ls dkSu&lh fof/k Hkk"kk vf/kxe ds fy, fMªy vkSj 
^Hkk"kk ds vkSipkfjd xq.k/keZ esa fuiq.krk* dks vko';d :i dh 
rjg vuq'kalk djrh gS\
(1) O;kdj.k vuqokn fof/k (2) dqy HkkSfrd izfrfØ;k
(3) JO; Hkk"kkokn (4) lEizs"k.kkRed Hkk"kk f'k{k.k

150. ?kks"k.kkRed Kku D;k gS\
(1) O;kdjf.kd rRoksa esa =qfV dh igpku djuk lh[kukA
(2) fdlh O;kdjf.kd rRo ij dSls dk;Z fd;k tk, ;g tkuukA
(3) fdlh Hkk"kk ds 'kCn dk mPpkj.k djuk tkuukA
(4) O;kdjf.kd rRoksa ds ckjs esa KkuA
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Maths & Science

 31. (4) 32. (1) 33. (3) 34. (4) 35. (4)
 36. (4) 37. (2) 38. (1) 39. (1) 40. (3)
 41. (1) 42. (2) 43. (1) 44. (2) 45. (2)
 46. (1) 47. (4) 48. (1) 49. (2) 50. (1)
 51. (1) 52. (4) 53. (1) 54. (1) 55. (4)
 56. (4) 57. (3) 58. (4) 59. (2) 60. (1)
 61. (1) 62. (3) 63. (4) 64. (1) 65. (3)
 66. (2) 67. (2) 68. (1) 69. (2) 70. (3)
 71. (3) 72. (3) 73. (3) 74. (3) 75. (3)
 76. (1) 77. (2) 78. (2) 79. (2) 80. (3)
 81. (1) 82. (3) 83. (3) 84. (1) 85. (4)
 86. (2) 87. (1) 88. (3) 89. (1) 90. (4)

Language-I: English

 91. (2) 92. (4) 93. (4) 94. (1) 95. (2)
 96. (3) 97. (3) 98. (1) 99. (2) 100. (3)
 101. (2) 102. (4) 103. (1) 104. (1) 105. (2)
 106. (1) 107. (3) 108. (3) 109. (1) 110. (4)
 111. (3) 112. (2) 113. (4) 114. (1) 115. (4)
 116. (3) 117. (3) 118. (1) 119. (1) 120. (3)

Hkk"kk-I: fgUnh
 91. (1) 92. (4) 93. (1) 94. (4) 95. (1)
 96. (3) 97. (2) 98. (4) 99. (2) 100. (2)
 101. (2) 102. (3) 103. (1) 104. (4) 105. (1)
 106. (1) 107. (3) 108. (1) 109. (1) 110. (1)
 111. (3) 112. (2) 113. (4) 114. (1) 115. (1)
 116. (1) 117. (2) 118. (4) 119. (3) 120. (3)

Language-II: English

 121. (4) 122. (4) 123. (4) 124. (3) 125. (2)
 126. (1) 127. (3) 128. (2) 129. (2) 130. (4)
 131. (4) 132. (1) 133. (3) 134. (2) 135. (4)
 136. (3) 137. (1) 138. (2) 139. (1) 140. (4)
 141. (2) 142. (1) 143. (4) 144. (2) 145. (4)
 146. (3) 147. (1) 148. (2) 149. (3) 150. (4)

Hkk"kk-II: fgUnh
 121. (1) 122. (4) 123. (1) 124. (4) 125. (4)
 126. (3) 127. (2) 128. (1) 129. (4) 130. (2)
 131. (4) 132. (1) 133. (4) 134. (4) 135. (3)
 136. (3) 137. (1) 138. (2) 139. (1) 140. (3)
 141. (2) 142. (4) 143. (4) 144. (2) 145. (4)
 146. (3) 147. (1) 148. (2) 149. (4) 150. (2)
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Paper-2 
21st January, 2024

CTET Solved Paper 
(Answers with Explanation)

Child Development and 
Pedagogy

1. Option (4) is correct.
Explanation: Dyslexia is a neuro-
logical condition that impacts the 
learner's ability to link
sounds with symbols because 
Dyslexia is commonly a ‘reading 
disorder’ that leads to difficulty 
with reading, spelling words and 
writing.
• In the reference of the question, 

the students/learners can be 
confused about the sounds and 
structure/shapes of the letters.

• They also can face difficulties 
while reading a particular 
letter.

• They can also feel difficulties 
with the recognition of letters/
symbols while learning.

2. Option (3) is correct.
Explanation: Here, we need to 
understand that the develop-
ment of humans is relatively 
sequential and usually follows a 
similar pattern. In reference to 
question, when children learn 
with concrete objects/real-life 
objects, they can easily observe 
things, and see use them in their 
lives wonderfully. For this, the 
human follows a specific pattern. 
For example- if a child wants to 
learn addition in maths, they can 
initiate their learning by count-
ing things and add things by real 
life objects.

3. Option (3) is correct.
Explanation: In reference to the 
question, here we are talking 
about critical questions in the 
terms of gender stereotypes, the 
critical thinking questions are 
those where you can think in dif-
ferent directions about any topic, 
similarly, if you are talking about 
genders in favour or against 
them, this will directly indicate 
to the gender stereotypes in pos-
itive or negative aspects through 
the media or textbook.

4. Option (1) is correct.
Explanation: In the reference 
question, the inclusive classroom  

is meant to be integrated, this 
does not support any separations 
or differentiations in terms of the 
students/learners, the given rea-
son in the questions is wrong be-
cause the inclusive classroom al-
ways shows the flexibility either 
the student is brilliant or dumb, 
this accepts all kind of individual 
differences.

5. Option (1) is correct.
Explanation: In the referenced 
question, the teacher is dealing 
with the student usually take 
time to self-regulate or you can 
say that they are less attentive 
while taking lectures or while lis-
tening to something. In that way, 
the teacher can give timers to stu-
dents for their self-regulation and 
time management.

6. Option (3) is correct.
Explanation: In the referenced 
question, the teacher also comes 
from different social back-
grounds, they can also be biased 
towards the students. In that way 
the teacher should be culturally 
responsive and reflective to make 
the right decisions, in terms of 
gender stereotypes and Biases.

7. Option (3) is correct.
Explanation: Attention is the pro-
cess that is essential in the mean-
ing-making of the information 
received from the environment 
and store it further in memory. 
Attention is responsible for the 
sequencing of the information 
and limits in terms of the capabil-
ity and duration, in that way, we 
need to manage the attentional 
resources to make the world un-
derstandable.

8. Option (4) is correct.
Explanation: Kohlberg has given 
the three levels of moral reason-
ing which are further divided 
into two sub-stages in the Con-
ventional level (the second three 
levels) describes childeren's 
usually internalizing the rules 
and regulations and they make 
their moral judgments as per the 
norms and expectations of socie-
ty/group.

9. Option (1) is correct.
Explanation:  In the referenced 
question, the constructivist learn-
ing theory always pushes the stu-
dents/learners to build/construct 
something by their engagement. 
Constructivist gives so much im-
portance in real-life knowledge 
rather than passively taking in 
information.

10. Option (4) is correct.
Explanation: According to Vygot-
sky, the teacher facilitates cogni-
tive development to guide and 
support the student's learning by 
scaffolding by dividing the con-
cepts into chunks to make them 
understandable. In that way, 
the students will brainstorm the 
concept and will be able to use it 
accordingly.

11. Option (2) is correct.
Explanation: Inclusive education 
always supports integration and 
unity among students. In that 
way, inclusiveness never sup-
ports the competitive ethos, the 
push the flexible work ability 
among students.

12. Option (1) is correct.
Explanation: By developing 
self-confidence and self-initiation 
ability in students, the teacher 
can strongly influence students’ 
development. In that way, you 
can push students to develop 
self-concept by thinking diverse-
ly and also, you can create a pos-
itive environment where the stu-
dents can openly speak and share 
their thoughts openly.

13. Option (3) is correct.
Explanation: Vygotsky has de-
fined the “More Knowledgeable 
Other” (MKO), where the MKO 
is someone who has a little bit 
more knowledge than the learn-
ers and can help to learn in any 
specific task, concept or process. 
The MKO provides temporary 
help (scaffolding) per the need of 
the learner in the specific space 
which is called the Zone of Proxi-
mal Development (ZPD).
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14. Option (3) is correct.
Explanation: In the referenced 
question, this is not compulsory 
that every child deals with the 
same moments when he or she 
enters into the middle childhood 
or adolescence. The given reason 
is correct that development is a 
continuous process, as you will 
gain abilities, knowledge and 
skills over time, but is not defi-
nite that every person grows in 
the same pattern.

15. Option (3) is correct.
Explanation: According to John 
Dewey, in the progressive class-
room, the students and teachers 
both work actively, and cooper-
ate actively learning from each 
other. In this environment, chil-
dren gain social and academic 
knowledge from cooperative 
learning efforts.

16. Option (1) is correct.
Explanation: Naturally, we do 
have individual difference in, 
even in animals and plants. In 
that way, the teacher should ac-
cept the individual difference in 
students as they have different 
understanding and working abil-
ities, and the teacher should deal 
with their students as per their 
abilities.

17. Option (3) is correct.
Explanation: The following 
symptoms in students deal with 
visual difficulties while learning. 
In the given conditions, the stu-
dents cannot see the blackboard 
clearly at a distance, they may 
face swelling or irritation in their 
eyes, or they may also be distract-
ed or confused letters commonly 
while learning. To prevent this, 
they can consult with a doctor 
or rinse their eyes with water in 
normal condition.

18. Option (4) is correct.
Explanation: The mastery goal 
orientation, where you will only 
focus on new skills, improve-
ment, and acquisition of addi-
tional knowledge. This is not for 
external motivation. The person 
who has mastery goal orien-
tation, usually focuses on the 
appropriate learning strategies, 
challenging and engaging, and 
develops a positive orientation 
toward learning.

19. Option (1) is correct.
Explanation: Jean Piaget has giv-
en the 4 stages of development. 

In these stages, one of the stages 
is formal operational stages (11 
or above) where the students can 
develops the ability to use sym-
bols for symbols such as letting 
the letter X stand for unknown 
numerals or students can meet 
with the syllabus where they 
can learn about the algebra and 
calculus at the initial stage, and 
develops the ability to think ab-
stractly and also understands the 
structure of the problems.

20. Option (3) is correct.
Explanation: This is correct that 
emotion plays an important role 
in our lives. The aspects of stu-
dents, usually want school ac-
ceptance or want that school re-
spect their thoughts or ideas. In 
that way, it is human nature that 
if you have importance some-
where, you will automatically 
feel like going there, to do things 
there.

21. Option (4) is correct.
Explanation: In progressive edu-
cation, the teacher and students 
are equally important. In pro-
gressive education, experience 
or pre-knowledge is more im-
portant. In that way, the teacher 
provides a diversity-rich envi-
ronment where the students can 
learn actively about the things 
within their interest. For this, the 
teacher can use real-life exam-
ples.

22. Option (1) is correct.
Explanation: 
1. Socialisation is a complex 

process: Yes, Socialisation is a 
complex process because the 
life of the children is influ-
enced by the various agencies. 
Throughout the process, the 
child acquires the knowledge, 
attitudes, values, and behav-
iors which must be developed 
for survival in society.

2. Socialisation is a multidimen-
sional process: Socialisation is 
usually done on the basis of 
multiple ways, like in the form 
of family, schools, neighbours 
and through multiple agencies.

3. Socialisation takes place 
uniquely in different cultures: 
Socialisations differ in different 
cultures, and the peoples are 
socialised differently within 
their own beliefs, and values.

23. Option (2) is correct.
Explanation: Adolescence is one 
of the important stages of hu-
man life, where they usually 
go through different physical, 
emotional, social and cognitive 
aspects. This is wrong that chil-
dren across different cultures ex-
perience adolescence in a similar 
manner, actually, the culture is 
not the factor that influences ad-
olescence, everyone has different 
social, emotional and cognitive 
aspects, so this would not be ex-
actly similar.

24. Option (2) is correct.
Explanation: Work-in-progress 
portfolios are an effective tool for 
formative assessment-
• Throughout the process, teach-

ers can involve students to as-
sess a deeper and better way.

• By assessment, you will find 
his/her mistakes, and through 
this you will work to improve 
them in the right direction.

• In terms of tangible evidence, 
teachers will collect concrete 
and exact evidence to improve 
their students in the right 
manner.

25. Option (2) is correct.
Explanation: In terms of mean-
ingful learning, if the students 
wants to gain knowledge and 
mastery of the concepts and re-
al-life examples, the students 
must be engaged with the active 
environment and can help to 
build their concepts with real-life 
examples. For this they can make 
their small group with their peers 
and can share and help each oth-
er.

26. Option (4) is correct.
Explanation: In the context of the 
given question, Sujata wants the 
first prize of cash, which shows 
the extrinsic motivation, extrinsic 
motivation is where you will at-
tract external things like prizes or 
rewards. If Sujata does not show 
interest in the prizes and wants to 
dance only for her joy and inter-
est, this would be called intrinsic 
motivation.

27. Option (1) is correct.
Explanation: In the context of the 
given question, usually the ques-
tions start with the ‘How’ will 
make the students brainstorm, 
where the students can think of 
the reason behind it and can use 
their creativity while speaking or 
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writing the answers. In the given 
option, “How does the author use 
symbolism in “To kill a Mocking-
bird”? In this, students can use 
their reasoning and understand-
ing to describe this answer.
Note: The Question Starts with 
the Wh like who, what does not 
make the students to think in 
diverse ways.Only The question 
Starts with “How” will make the 
students think in diverse ways

28. Option (3) is correct.
Explanation: According to Jean 
Piaget's Theory of Cognitive 
Development, children actively 
construct their understanding of 
their world through their own 
learning experiences and inter-
actions with the environment 
and people, rather than merely 
absorbing knowledge passively 
from the environment.

29. Option (3) is correct.
Explanation: In the context of the 
given question, Gilligan believed 
that Kohlberg's theory is biassed 
because Kohlberg has only fo-
cused on males logic and rule.

30. Option (4) is correct.
Explanation: Here, the question 
talks about the different concepts 
and gives the wrong reason for 
the assertion.
In the assertion, this shows 
the teacher as the MKO (more 
knowledgeable others), where 
the teacher can give temporary 
help (Scaffolding) to students in 
the specific criteria (ZPD).
From the perspective of reason, 
according to the book “Frames 
of Mind” which was written by 
Haward Gardner, you cannot 
measure intelligence by calculat-
ing IQ.

Maths & Science

31. Option (4) is correct.
Explanation:  The numbers are in 
ratio 2 : 3 : 4..... (given)

 Let the common multiple be x.

 ∴ The actual numbers will be 2x, 
3x and 4x

 (2x)3 + (3x)3 + (4x)3

 = 33957... (given)

 ∴ (8 + 27 + 64) x3 = 33957

 ∴ 99 x3  = 33957

 ∴ x3 = 
33957

99

 ∴ x = 3 343
So, numbers are :
2x = 2 × 7 = 14
3x = 3 × 7 = 21
4x = 4 × 7 = 28 

7x∴ =

∴ Sum of 3 numbers 
= 2x + 3x + 4x 
= 14 + 21 + 28

 = 63
∴ Sum of 3 numbers = 63 

32. Option (1) is correct.
Explanation:  Let  the 3  
consecutive integers be (x – 1), 
x, and (x + 1)

 When taken in increasing order.

 3 (x –1) + 5x + 2 (x + 1) = 99 

...(given)
∴ 3x – 3 + 5x + 2x + 2 = 99
∴ 10x – 1 = 99
∴ 10x = 99 + 1
So, 10x = 100

 So, x = 100
10

 

 10x∴ =

 ∴ Original first integer

 = x – 1 = 10 – 1 = 9

 Original third integer 

 = x + 1 = 10 + 1 = 11
So, sum of integers is

 ∴ 9 + 11 = 20

33. Option (3) is correct.
Explanation:  1

 (a) A rational number includes 
integers TRUE

 As a rational number is a 
number than can be expressed 
as the ratio of two integers, in 

which denominator cannot be 
zero.

 ∴ All natural numbers, whole 
numbers as well as integers and 
the number zero are rationals.

 (b) 0 (zero) is not a rational 
number: FALSE.

 Refer to above explanation on 
rationals.

 As ‘0’ can be expressed as

 

0
0 ;(1 0)

1
p
q

= = ≠

 ∴ 0 is a rational number

 (c) All fractions are rational 
numbers : TRUE.

 This is because fractions are 
always ratio of positive integers.

 where denominator ≠ 0

 For example, In 22 22
: 7 0

7 7
≠ ∴  

is a fraction and 
22
7  is a rational 

number

 However 
22
7

 = 3.14159..... is not 

a rational number as it cannot be 

expressed in the form of 
p
q

 and 

q ≠ 0.

34. Option (4) is correct.

Explanation: Curved surface area 
of right circular  cylinder 

 = 4400 cm2 ...(1)

h

r

 Circumference of base 

= 110 cm

Formula used:

Curved surface area of the right 
circular cylinder = 2prh
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 = (2pr) = 110 cm ...(2)

 (2pr)h = 4400  ... from (1)

 ∴ 110 × h = 4400  ... from (2)

 ⇒ h = 
4400

40
110

=

 ∴ h = 40 cm ...(3)

 ∴ h = 
40 2

100 5
=  meter

 2pr = 110  .... from (2)

 ∴ r = 
7 1 35

110
22 2 2

× × =  cm

 ∴ r = 35 1 7
2 100 40
× =  meter

 

7
(m)

40
r =

 ∴ Volume of cylinder = pr2h

22 7 7 2
7 40 40 5

= × × ×
 

 

77
2000

=

 
3Volume 0.0385m=

35. Option (4) is correct.

Explanation:  In triangle PQR, ∠R 

= 15° and PR > 18 cm

Lets consider why other options  

cannot make an obtuse scalene 

triangle.

(Opt 1) :

55°
P

Q

18 cm

65°

R

 Here, for DPQR to be obtuse 
scalene;

 ∠P = 55° < 90°

 ∠R = 65° < 90°

 ∴ ∠Q must be > 90°

 However; ∠Q = 180° – (55° + 
65°) = 60°

 ∴ Q >  90°

 ∴ Option (1) is incorrect

 Option (2) :

 
55°

P
Q

18 cm

25°

R

 Here, in DPQR, 

 PR RQ 18= = cm (given)

 ∴It is an isosceles triangle

 ∴ ∠P = ∠Q = 55°

 However; ∠Q = 180° – (55° + 
35°) = 90°

 Since, ∠P ≠ ∠Q and ∠Q >   90°

 ∴ Option (2) is incorrect

 Option (3) :

 
55°

P
Q

18 cm

25°

R

 Here, again DPQR becomes an 

isoscles D as PQ QR=

 However; ∠P ≠ ∠R

 ∴ Option (3) is incorrect

 Option (4) :

 
55°

P
Q

18 cm

15°

R

 Here, in DPQR, 

 ∠Q = 180° – (55° + 15°) = 110°

 ∠Q > 90°

 also ∠P < 90  ∠R < 90

 Also, side opposite to the largest 
angle is the greatest.

 ∴ opt(4) is correct

36. Option (4) is correct.
Explanation:  Piaget was a Swiss 
psychologist known for his work 
in developmental psychology, 
particularly the study of cogni-
tive development in children. 
He introduced the term ‘Schema’ 
to describe mental structures or 
frameworks that individuals use 
to organise and interpret infor-
mation.

37. Option (2) is correct.

Explanation:  
3 41 2

3 3
x
y

− −−   = ÷   
   

 

4
3 3

( 3)
2

 = − ÷  
 

 = 
 

1
using n

na
a

4
3

4
2

(3)
3

= − ×

 
using 

p a p b
q b q a

  ÷ = × 
  

 

42 16
3 3
− −

= =

16
3

x
y

−
∴ =

 

1 116 3
3 16

x y
y x

− −  − −  + = +       

116 3
3 16

−
  = − +    

 

1(256 9)
48

−+ = −  
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1265
48

−− =   

 

1
48

265
x y
y x

−
  −

+ = 
 

38. Option (1) is correct.
Explanation:  

 Given, A = –2x2 + 12x
 B = 3x2 – 8x + 11
 C = –4x2 + 17
 D = x2 – x – 3
 A + B + C – D
 = (–2x2 + 12x) + (3x2 – 8x + 11)

+ (–4x2 + 17) – (x2 – x – 3)
 ∴ (–2x2 + 3x2 – 4x2 – x2) 

+ (12x – 8x + x) + (11 + 17 + 3)
 ∴ –4x2 + 5x + 31
 ∴ A + B + C – D 
 = –4x2 + 5x + 31
 coefficient of x2 = – 4
 coefficient of x = 5

 ∴ –4 + 5 = 1
39. Option (1) is correct.

Explanation:  
 In adjoining figure;

28°

12x
7y

CD

A B

60°

 ∠B = ∠A
 i.e. ∠ABC = ∠ADC
 (Opposite angles of 

parallelogram are equal)
 ∴ 12x + 7y = 60° + 28° = 88°
 ∴ 12x + 7y = 88° ...(i)
 Also ∠BAD + ∠ADC  = 180° 
 {Supplementary angles  

in a parallelogram}
 ⇒ ∠BAD + 88° = 180°
 ∴ ∠BAD = 180° – 88° = 92°
 In DABD,

 ∠DAB + ∠ABD + ∠BDA = 180°
(Sum  of angles in a triangle)

 ∴ 92° + 7y + 60° = 180°
 7y + 152° = 180°

 ⇒ 7y = 28°
 ∴ y = 4° ...(2)

Putting the value of y in equation 
(1),

 ∴ 12x + 7(4°) = 88° 
 from (1) & (2)
 ⇒ 12x + 28° = 88°
 ⇒ 12x = 88° – 28° = 60°

 

°
⇒ = = °

°
60

5
12

x

 So, x = 5° ...(3)
 ∴ 2x + 3y = 2(5°) + 3(4°) 
 from (2) & (3) 
 = 10° + 12°

2x + 3y = 22°
40. Option (3) is correct.

Explanation:  1.9789
 x = 1.011 + 10.11 – 12.101 

+ 0.1011

 

01.0110
10.1100

00.1011
11.2221

+

 Now, 11.2221 – 12.101
 x = –0.8789
 Let y be added to x to get 1.1
 ∴  x + y = 1.1
 ⇒  y = 1.1 – (–0.8789)
 = 1.1+0.878.9

So, 1.9789y =

41. Option (1) is correct.
Explanation:  x = 9 and y = 5

 For number 9471 x 9y2 to be 
divisible by 72, it should be 
divisible by both 9 & 8

 ..... {(9, 8) is a coprime pair and 
9 × 8 = 72}

 9471 x 9y2 is divisible by 9 if
 (9 + 4 + 7 + 1 + x + 9 + y + 2) 

is divisible by 9.
 .... {by divisibility rule of 9}.
 i.e. 32 + x + y is divisible by 9
 ∴ 32 + x + y = 36 or 32 + x + y 

= 45
 { 36 and 45 are numbers 

greater than 32 which are 
divisible by 9}

 ∴ x + y = 4 or x + y = 13
 from the given options; option 

(1)
 x = 9 y= 5; x + y ≠ 4 & x + y 

≠ 13

 all the rest options follow x + y 
= 13

 ∴ x = 9, y = 6 is incorrect.
42. Option (2) is correct.

Explanation:
 p3x + p2(x – y) – p (y + z) – z 

....(given)
 = [p3x + p2(x – y)] – [p (y + z) + 

z]
... grouping the terms.

 = p3x + p2x – p2y – py – pz – z 
 = p3x – p2y – pz – px2 – py – z

.... rearranging terms
 = p (xp2 – py –z) + (p2x – py – z)
 = (p + 1) (xp2 – py – z)
 ∴ One of the factors of the given 

polynomial is (p2x – py – z)
43. Option (1) is correct.

Explanation:  data : 30, 8, 7, 3, 17, 
15, 21, 24, 29, 23

 Median is the average of 
middlemost numbers when the 
data is arranged in ascending 
order.

 Data: 3, 7, 8, 15, 17, 21, 23, 24, 29, 
30

 ∴ As there are 10 elements
 ∴ Median is average of 5th and 

6th elements

 ∴ Median = 17 21 38
19

2 2
+

= =

 ∴ x = 19
 When we replace 3 by 33 and 8 

by 17 in the given data;
 the data in ascending form will 

be :
 7, 15, 17, 18, 21, 23, 24, 29, 30, 33

 ∴ Median = 
21 23 44

22
2 2
+

= =

 ∴ y = 22
 ∴ Difference = y – x = 22 – 19 

= 3
 ∴ y – x = 3
44. Option (2) is correct.

Explanation:   Consider the first 
data

 (a) Heights of participants in an 
athletics meet.

 On the x axis we can have the 
name of participants which is 
non numerical.

 On y axis we plot the height of 
participants.

 This is discrete, discontinous 
data.
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 We can use the line graph or 
vertical bar graph to represent 
this.

 (b) Number of passengers 
boarding the train from 9.00 am 
to 9 p.m. at a station. 

 On x axis, we have various time 
slots from 9.am to 9 p.m. This 
data set is continuous.

 On y axis,⇒ we have the number 
of passengers corresponding to 
particular time slot.

 We necessarily use a histogram 
to represent this.

 ∴ The intention of the teacher 
is to teach the use of histograms 
for data representation.

45. Option (2) is correct.
Explanation:  
A

40°

B 8 cm
C

F

40°

E 8 cm
D

 In DABC and DFEF

 ∠BAC = ∠EFD = 40°... (given)

 ∠ABC = ∠FED = 90° ... (given)

 Side (BC) = side (ED) .... (given)

 ∴ DABC ≅ DFEF ... by AAS 
congruency test

 AAS Test : If two triangles 
have two equal angles and a 
side adjacent to only one of the 
angles that are equal, then the 
two triangles are congruent by 
AAS of coagruency.

46. Option (1) is correct.
Explanation:  

11 cm

25 cm

12 cm

2x

3x

 Area of trapezium = 
1
2
×  

(sum of sides parallel × height)

 

1
(11 25) 12

2
= × + ×

 

1
36 12 18 12 216

2
× × = × =

 ∴ Area of trapezium = 216 cm2

 Area of rectangle = 3x × 2x 
{∴ Sides in ratio 2 : 3; x be  

in a common factor}
 = 6x2

 According to question,

 Area of trapezium = area of 
rectangle

 ⇒ 6x2 = 216

 

2 216
36

6
x∴ = =

 ∴ x = + 6
 ∴ x = 6
 ∴ Perimeter of rectangle 2 

(length + breadth)
 = 2 (3 × 6 + 2 ×  6)
 = 2 (18 + 12)
 =2 × 3 = 60 cm
47. Option (4) is correct.

Explanation:  In this scenario the 
concept of least common multiple 
is important because one wants 
to find the smallest distance that 
each person can walk and at the 
same time make sure they cover 
the same total distance.

 LCM is used when dealing with 
multiples of numbers. In this 
case, the step measures are the 
lengths of the steps taken by 
each person and we need to 
find a distance where the step 
measures become multiples of 
the same number.

LCM helps indentify the 
smallest common multiple for 
the given step measures.

48. Option (1) is correct.
Explanation:  

 (a) Teaching learning process 
shall become joyful: Correct 
A sports naturally brings an el-
ement of fun and enjoyment, 
making learning more engaging 
and interactive.

 (b) It is not possible to use 
sports for teaching mathemat-
ics: Incorrect

 This statement is incorrect be-
cause numerous sports activities 
can be designed to teach various 
amthematical concepts. eg:

 Kho-Kho: Concept of speed, 
time, distance:

 Tug-of-war: Concept of 
force,motion.

 Mallakhamb: Geometry (body 
positions & shapes formed 
durign excercises), symnetry, 
balance etc.

 (c) It is time consuming and 
hence should be avoided: Incor-
rect, because integrating sports 
can actually enhance. Students’ 
engagement and understand-
ing and it is not necessarily time 
consuming.

 (d) Apart from popular sports, 
there are many indigenous 
sports that can be used in teach-
ing mathematics: Correct

 Refer to explanation of option 
(b).

 ∴ Option (a) and (d) are correct.
49. Option (2) is correct.

Explanation:   A pair of angles is 
said to be supplementary if the 
measure of the angles add upto 
180°

 let m & p be supplementary an-
gles

 (m > p) .... ∴m + p = 180° ... (1)
  m – p = 20 ° ... (2) (given)
 ∴ 2m = 200  ... (Adding (1) & (2)
 m = 100°

Putting the value of m in equation 
(1),

 ∴ p = 180° – 100° ... from (1)
 ∴ p = 80°
 ∴ 3p – 50° = 3(80°) – 50°
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 = 240° – 50° = 190°
 ∴ 3p – 50° = 190°
50. Option (1) is correct.

Explanation:  Ram has good 
memory but lacks conceptual 
understanding.

 This statement suggests that 
Ram can recall definitions ac-
curately (indicating his good 
memory) but may not fully un-
derstand or apply the concepts 
when presented with specific 
numbers. It highlights a po-
tential gap in conceptual un-
derstanding rather than lack of 
practise.

 Clearly Ram doesnt have analyt-
ical skills. Also there is little con-
nection between concentration 
and ability to analyze.

 ∴ Option (2), (3) and (4) are in-
correct.

51. Option (1) is correct.
Explanation:  

 Option (a): It provides to an op-
portunity for students engage 
in proofs and examining pat-
terns.

 This statement is valid because 
engaging in proofs requires stu-
dents to think logically and crit-
ically. A student must identify 
and analyze information, con-
struct arguments and evaluate 
conclusions.

 ∴ It fosters critical thinking and 
logical reasoning.

 Option (c): Students use appro-
priate strategies for solving var-
ious new problems.

 This statement is valid because 
mathematics involves not just 
rote memorization but the de-
velopment of problem solving-
strategies. When a student en-
counters a new mathematical 
challenge, he/she is engaged in 
critical thinking, logical reason-
ing and develops creative prob-
lem solving strategies.

 Option (b) Students reproduce 
formulae and symbols during 
problem solving.

 This statement is Not valid be-
cause mathematics is not only 
about memorizing formulaes 
and symbols. It involves under-
standing the underlying con-

cepts, logic and use these ac-
cordingly.

 Hence, option (a) and (c) are 
correct.

52. Option (4) is correct.
Explanation:  x varies inversely as 
y... given

 
1

;x
y

∴ ∝

 ;
k

x
y

=  
 (k is constant of inverse 

variation)
 k = x × y ...(1)
 x = 3.5 y = 2.4   ...(given)
 ∴ k = 3.5 × 2.4 ...(2)

 where x = 5.6, y = 3.5 2.4
5.6

k
x

×
=  

from (1) & (2)

 y = 35 24
560
×

 (Multiply & divide by 100)

y = 1.5

53. Option (1) is correct.
Explanation:  
Total fruits = 44 + 56 + 42 + 30 
+ 38 = 210

 Apples = 56
 ∴ In a pie chart; all the angles of 

the sector should sum to 360°
 ∴ Angle of sector representating
 Number of apples/Total number 

of fruits × 360°

 
= × ° = °

56
360 96

210

54. Option (1) is correct.
Explanation: 
Selling price SP = ` 324

 Discount = d = 28% on marked 
price (MP)

 Cost price = CP = ` 300
 ∴ 72% (MP) = 324

 ∴ MP = 324 100
72
×

 MP = ` 450
 ∴ If d = 18%
 SP = (MP) – 18% (MP) =
 SP = 82% MP

 

82
450

100
= ×

 So, SP = ` 369

 ∴ Profit % = 
SP

1 100
CP

 − 
 

 

369
1 100

300
 = − × 
 

 = (1.23 – 1) 100 = 23%

Profit = 23%

55. Option (4) is correct.
Explanation:  Let the two rational 
numbers be x and y

 

5
2

y
−

=

 

40
3

x y
−

× =

 

5 40
2 3

x
− −

∴ × =

 

40 2 16
3 5 3

x
− −

∴ = × =

 ∴ reciprocal = 
1 3 1

16 5.33x
= ≈

 We need to find where 
1

5.33  lies

 Lets check

 Option (1): 1 1
and

5 4

 Clearly this is incorrect as
 5.33 >5 > 4

 and 
1 1 1
4 4 5.33
> >

 Option (2) 
1 1

 and 
4 3

 Clearly this is incorrect as;

 5.33 > 4 > 3 and 
1 1 1
3 4 5.33
> >

 Option (3): 
3 9

 and 
20 50

. 

 This too is incorrect.
 Here, by approximation; 

3 1
20 6.66

≈  and, 
9 1
50 5.55

≈

 as 6.66 > 5.55 > 5.33

 

1 1 1
5.33 5.55 6.66

∴ > >

 Option (4): 9 1
and

50 5
 

 This option is correct.

 By approximation; 
9 1
50 5.55

≈

 as 5.55 > 5.33 > 5
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1 1 1
5 5.33 5.55

∴ > >

 as 1 3 1 9
and

5.33 16 5.55 50
≈ ≈

 

1 3 9
5 16 50
> >

∴ reciprocal of second number 

lies in between 1 9
and

5 50

56. Option (4) is correct.
Explanation:  In a polyhderon;

 Vertices = V = 10
 Edges = E = 15    (given)
 Faces = F = x
 By Euler’s formula;
 F + V = E + 2
 ∴ F = (E + 2) – V
 = (15 + 2) – 10
 F = 7
 ∴ x = 7
 ∴ 3x – 12 = 3 (7) – 12 = 9

∴ 3x – 12 = 9

57. Option (3) is correct.
Explanation:  Student is able to 
understand concept of percent-
age but is unable to understand 
percentage of which quantity is 
to be found.

 Here % decrease 

 = 
28,000 26, 500

100%
20800
−

×

 Clearly the student has solved it 
incorrectly.

 ∴ Option (4) is ruled out.
 Let us analyze other options.
 Option (1) is clearly incorrect as 

the student knows the concept 
of percentage. He has used 
the correct method of solving 
however the numerator is 
incorrect.

 Option (2) is incorrect because 
a silly mistake might involve a 
computational error, but here, 
the student approach demon-
strates a conceptual error.

 Therefore option (3) is correct
 i.e. The student should has 

understood the concept of 
percentage, but is not able to 
understand percentage of which 
quantity is to be found.

58. Option (4) is correct.
Explanation:   

h = 0.83 m

b
=

1.16
m

l = 1.48 m

 Firstly we subtract the thickness 
from the corresponding external  
dimensions to obtain the dimen-
sions of internal area

 ∴ Inner length of open box 
 = 1.48 – (2 × 0.03) = 1.42 m

 Inner breadth of open box 
 = 1.16 – (2 × 0.03) = 1.10 m
 Inner height of open box 
 = 0.83 – 0.03 = 0.8 m

 Now, area of inner surface 
 = 2(lb + bh + hl) – lb
 = 2 (bh + hl) + lb
 = 2 [1.1 × 0.8 + 0.8 × 1.42] 

+ (1.42 × 1.1)
 = 2 [0.88 + 1.36] + 1.562
 = 5.594 m2

 ∴ Cost of painting inner surface 
= 5.594 × 150 = ` 839.1 

 Total cost = ` 839.1
59. Option (2) is correct.

Explanation:   Taylors abacus of-
fers several advantage for visual-
ly challenged students. A student 
is encouraged for mental calcula-
tions, reducing dependence on 
visual representations of num-
bers.

 Here student use their fingers to 
move the beads on abacus, by-
passing the need of sight.

 Therefore Taylor’s abacus is best 
teaching learning resource for 
visually impared students.

 Geogebra, computer and spread 
sheets make use of elemetns like 
graph diagram, screen reading 
software which poses a chal-
lenge for the visually challenged 
students.

60. Option (1) is correct.
Explanation:  Disposition to-
wards Mathematics

 Option (1) Disposition towards 
Mathematics refers to a stu-
dent’s attitude, beliefs and mo-
tivation towards mathematics. 
While it influences a students 

engagement and learning, it 
cannot be considered as a core 
dimension of assessment of 
mathematics learning.

 Option (2): Mathematical rea-
soning:

 This involves a students ability 
to think logically, make connec-
tions and apply mathematical 
concepts in problem solving. 
Hence it is considered as a core 
dimension of assessment of 
mathematics learning.

 Option (3) Communication:
 This dimension assesses a stu-

dents ability to express math-
ematical ideas clearly, both in 
written and oral form. It in-
cludes the ability to communi-
cate mathematical reasoning. 
Solutions and interpretations 
effectively.

 Therefore it is considered as a 
core dimensions of assessment 
of mathematics learning.

 Opt (4) Patterns and Proce-
dures:

 This dimension involves under-
standing and applying mathe-
matical patterns, relationships 
and procedural knowledge.

 Understanding patterns and 
applying procedures are inte-
gral parts of analyzing, prob-
lem-solving and forming logi-
cal connections. Theirefore it is 
considered as a core dimension 
of assessment of mathematics 
learning.

61. Option (1) is correct.
Explanation: Using the senses to 
gather information is NOT indic-
ative of the hypothesizing skill. 
Hypothesizing involves forming 
educated guesses or explana-
tions based on observations and 
existing knowledge, while using 
the senses is more related to the 
skill of observation rather than 
hypothesis formulation.

62. Option (3) is correct.
Explanation: A fact is an obser-
vation that has repeatedly been 
found to be true, while a law is 
a statement that describes a con-
sistent and universal relationship 
observed in nature. A theory, on 
the other hand, is a well-sub-
stantiated explanation of some 
aspect of the natural world.
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63. Option (4) is correct.
Explanation: Yellow vein mosaic 
of bhindi is caused by a Virus, 
while rust of wheat and citrus 
canker are caused by fungi and 
bacteria, respectively. Citrus 
canker, caused by the bacteri-
um Xanthomonas citri, affects the 
leaves, twigs and fruit of citrus 
plants causing the leaves to drop 
and unripe fruit to fall to the 
ground. 

64. Option (1) is correct.
Explanation: Students are likely 
to employ classifying (a) as they 
categorize the objects based on 
shape and observing (b) as they 
gather information about the 
manner of movement. Inductive 
reasoning (c) and measuring (d) 
are less likely to be employed in 
this context.

65. Option (3) is correct.
Explanation: (a) Slaked lime - 
Calcium hydroxide
(b) Table salt - Sodium chloride
(c) Limestone - Calcium car-
bonate
(d) Caustic soda - Sodium hy-
droxide
(e) Quick lime - Calcium oxide
(f) Baking soda - Sodium bicar-
bonate

66. Option (2) is correct.
Explanation: (a) “The electro-
scope leaves move further apart.” 
This is an observation because it 
describes a measurable and di-
rectly observable phenomenon.
(b) “Both the electroscope leaves 
acquire similar charge.” This is an 
inference because it goes beyond 
direct observation. It proposes 
a cause-and-effect relationship 
based on the observation in (a).
(c) “The negative charge passes 
on to the electroscope causing 
its leaves to move further apart.” 
Similar to (b), this statement is 
an inference. It suggests a cause-
and-effect relationship based on 
the observed movement of the 
electroscope leaves in (a).

67. Option (2) is correct.
Explanation: The stars’ apparent 
motion from east to west is due 
to the Earth’s rotation from west 
to east. This rotation causes the 
observer to perceive the stars’ 
movement in the opposite direc-

tion, providing a correct expla-
nation for the assertion.

68. Option (1) is correct.
Explanation: The box is at rest on 
a horizontal table, so the gravita-
tional force pulling it downward 
is balanced by the normal force 
exerted by the table upward. In 
this equilibrium state, the net 
force is zero, and a pair of bal-
anced forces acts on the box.

69. Option (2) is correct.
Explanation: The statement 
“science promotes skepticism” 
means that scientific inquiry 
encourages a critical and ques-
tioning attitude. Scientists rely 
on empirical evidence to support 
or refute claims, fostering skep-
ticism toward unverified or un-
supported assertions.

70. Option (3) is correct.
Explanation: X derived from pe-
troleum is Bitumen, and Y de-
rived from coal is Coal Tar. Both 
are thick, black liquids used for 
road metalling. Option (3) cor-
rectly identifies the sources of X 
and Y in relation to Bitumen and 
Coal Tar.

71. Option (3) is correct.
Explanation: Newton’s theory 
of gravitation is regarded as ex-
cellent because it successfully 
explains a wide range of obser-
vations with a simple set of prin-
ciples, emphasizing the elegance 
and efficiency of the theory in 
making accurate predictions 
with minimal assumptions.

72. Option (3) is correct.
Explanation:
(a) Rose - Vegetative propagation
(b) Yeast - Budding
(c) Ferns - Spore formation
(d) Spirogyra - Fragmentation
The correct pairing of plants with 
their modes of asexual reproduc-
tion is provided by option (3).

73. Option (3) is correct.
Explanation: Rayon, also called 
viscose and commercialised in 
some countries as sabra silk or 
cactus silk, is a semi-synthetic 
fiber, made from natural sources 
of regenerated cellulose, such as 
wood and related agricultural 
products. It has the same molec-
ular structure as cellulose.

74. Option (3) is correct.
Explanation: Introducing the 
concept of deficiency along with 
the definition of a balanced diet 
sets the foundation for under-
standing deficiency diseases. It 
establishes the importance of 
proper nutrition and paves the 
way for discussing specific nu-
trients and their roles in prevent-
ing deficiency diseases.

75. Option (3) is correct.
Explanation: A well-construct-
ed matching item should have 
a unique and clear correspond-
ence between entries in columns 
A and B. Having more than two 
plausible entries for a single item 
in column A indicates a poorly 
constructed item, making it chal-
lenging for students to provide a 
precise match.

76. Option (1) is correct.
Explanation: The kinetic energy 
(KE) of a body is given by the for-

mula 
2

2
p
m

 , where p is the linear 

momentum and m is the mass of 
the body.

77. Option (2) is correct.
Explanation: Rusting of iron in-
volves a chemical reaction be-
tween iron and oxygen, and it 
is not a reversible reaction. It is 
very exothermic but heat is lost 
before the temperature increases 
because the reaction is very slow, 
and while it can occur at room 
temperature, it is not limited to 
that condition.

78. Option (2) is correct.
Explanation: Non-metals will 
normally not react with water, 
however, non-metal oxides will 
react with water to form acids.

79. Option (2) is correct.
Explanation: Introducing the 
concept of chemical reactions 
through discussions on real-life 
examples engages students and 
makes the subject more relatable. 
This approach encourages curi-
osity and helps students connect 
theoretical concepts to practical 
observations.

80. Option (3) is correct.
Explanation: In a sitar (X), 
sound is produced by stretched 
strings; in a harmonium (Y), it 
is the stretched membrane that 
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vibrates; and in a dholak (Z), 
the vibrating part that produces 
sound is the air column. Option 
(3) correctly identifies these mu-
sical instruments.

81. Option (1) is correct.
Explanation: Macronutrients de-
rived from the soil and needed in 
large amounts are nitrogen (N), 
phosphorus (P), potassium (K), 
sulphur (S), calcium (Ca), and 
magnesium (Mg). Legumes are 
the exception because they fix 
N from the air. The remaining 
essential nutrients derived from 
the soil are referred to as micro-
nutrients, because they are need-
ed in small amounts. They are 
boron (B), chloride (Cl), copper 
(Cu), iron (Fe), manganese (Mn), 
molybdenum (Mo), nickel (Ni) 
and zinc (Zn). Micronutrients 
are important for plant growth, 
as plants require a proper bal-
ance of all the essential nutrients 
for normal growth and optimum 
yield.

82. Option (3) is correct.
Explanation: Rehearsing the 
demonstration is actually a de-
sirable practice, as it ensures the 
smooth execution of the experi-
ment. Planning, supplementing 
with explanations, following up 
with discussion, and emphasiz-
ing linkages are all positive as-
pects of conducting a classroom.

83. Option (3) is correct.
Explanation: The force of gravity 
is responsible for the ball’s mo-
tion, and its magnitude remains 
the same during both upward 
and downward motion.

84. Option (1) is correct.
Explanation: Seed dispersal typ-
ically involves the movement 
of seeds away from the parent 
plant, but this process doesn’t di-
rectly lead to the creation of new 
genetic varieties. The genetic di-
versity and the creation of new 
varieties usually result from pro-
cesses like mutation and genetic 
recombination.

85. Option (4) is correct.
Explanation: Periscope: A peri-
scope is a device that allows an 
observer to see objects that are 
not in their direct line of sight. It 
typically consists of a system of 
mirrors or prisms to reflect light 

and bring the image to the view-
er’s eyes.

 Reflection: The principle in-
volved in a periscope is reflec-
tion. Mirrors inside the periscope 
reflect the light, redirecting it 
around corners and obstacles, so 
that the observer can see objects 
that are not directly in their line 
of sight.

86. Option (2) is correct.
Explanation: When three resist-

ances of  
  

1
3

Ω each are connect-

ed, we can calculate the maxi-
mum and minimum resistance 
as follows:
Maximum resistance is obtained 
when the resistances are con-
nected in series: 
Rmax = R1 + R2 + R3

  = + +
1 1 1
3 3 3

= 1Ω

Minimum resistance is obtained 
when the resistances are con-
nected in parallel: 

= + + =
min 1 2 3

1 1 1 1
3

R R R R

Rmin = 1
3

Ω

Now, we find the difference be-
tween the maximum and mini-
mum resistance: 
Difference =  Rmax – Rmin

= 1  – =
1 2
3 3

 Ω

87. Option (1) is correct.
Explanation: Acid rain is caused 
by the release of certain pollut-
ants into the atmosphere, which 
then react with water vapor to 
form acids. The primary pollut-
ants responsible for acid rain are 
sulfur dioxide (SO2) and nitro-
gen oxides (NOx), which include 
nitric oxide (NO).

88. Option (3) is correct.
Explanation: Dried raisins swell 
in water due to osmosis, where 
water moves from an area of 
lower solute concentration to 
higher concentration. The plant 
cell wall being selectively perme-
able is accurate, but the prima-
ry reason is osmotic movement 
across the raisin cell membrane, 
equalizing solute concentrations 
and causing swelling.

89. Option (1) is correct.
Explanation: In most species of 
frogs, fertilization is external. 
The male frog grabs the female’s 
back and fertilizes the eggs as the 
female frog releases them. Fe-
male fish release eggs into water 
and male fish releases sperms. 
Sperms swim randomly in water 
and comes in contact with the 
eggs. Since fertilization occurs in 
water, outside the female body, 
it is called external fertilization. 
Starfish is an echinoderm and 
fertilization occurs externally. 
Most of the starfish species re-
lease their eggs directly into the 
water. The male starfish then re-
leases sperms over the secreted 
eggs and fertilizes them to form 
zygote.

90. Option (4) is correct.
Explanation: Iodine is required 
for the production of thyroxine 
hormone, which is essential for 
the transformation of tadpoles 
into frogs. Tadpoles may develop 
abnormally or even die if there 
are insufficient levels of iodine 
in the water, which could affect 
the synthesis of the hormone 
thyroxine. Iodine must therefore 
the present in water to ensure 
appropriate transformation of 
tadpoles into healthy adult frogs.

Language-I: English

91. Option (2) is correct.
Explanation:  A noun is a word 
that represents a person, thing, 
concept, or place. In the given 
sentence, time is a noun because 
it indicates the measurement of 
moments or the forward progres-
sion of events. While ‘around’ is 
an adverb, that describes some-
thing that's on every side of you. 
Hence, option (2) is correct.

92. Option (4) is correct.
Explanation: The passage clearly 
states the presence of the daugh-
ter, so the narrator is definitely 
one of the parents, who reminisc-
es her childhood days through 
her daughter. Thus, from the 
given anecdote it is apparent 
that the characters share the re-
lationship of mother-daughter. 
Hence, option (4) is correct.
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93. Option (4) is correct.
Explanation: "Admonish" means 
to reprimand or scold. The act of 
plucking one of the ixora flow-
ers actually left the narrator up-
set and confused, she wanted 
to reprimand / scold his friend. 
Whereas other options are oppo-
sites to the given word. Hence, 
option (4) is correct.

94. Option (1) is correct.
Explanation: In the passage, 
"to be transported in time" is 
used when the narrator reflects 
on her childhood upon seeing 
her daughter's excitement. This 
phrase metaphorically means re-
visiting past experiences in one's 
mind. It encapsulates the idea of 
mentally journeying back to ear-
lier moments, thus aligning with 
"recollect memories of the past."

95. Option (2) is correct.
Explanation: The phrase ‘dead 
tried’ refers to a state of complete 
exhaustion, and all options ex-
cept (2) reveal the same meaning. 
‘To feel refreshed’ is the opposite. 
Hence option (2) is correct.

96. Option (3) is correct.
Explanation: In the analogy, clus-
ter and bunch share the relation-
ship of synonyms. In the same 
manner, ‘puny’ implies ‘deli-
cate’. Hence, option (3) is correct.

97. Option (3) is correct.
Explanation: According to the 
mother, it was not a good idea 
to taste the sweet nectar from 
flowers. This is because the se-
cret that the girl shared with her 
mother took the mother back to 
her youth, when she had tasted 
the sweet nectar from flowers. 
Hence, option (3) is correct.

98. Option (1) is correct.
Explanation: The assertion that 
the child was excited to share 
a secret with the mother is cor-
rect, so is the reasoning that the 
mother was in disbelief and went 
down the memory lane. But R is 
not the correct explanation for A. 
Hence, option (1) is correct.

99. Option (2) is correct.
Explanation: It is untrue that the 
writer was left traumatised by 
the incident of tasting sweet nec-
tar from flowers. It is apparent 
that while returning from school, 
the writer and her friend had in-
dulged in the guilty pleasure of 

tasting sweet nectar from flow-
ers, and she is reminded of this 
through her daughter’s secret. 
The writer wants her child to be 
connected to the sweet pleasures 
of nature because she decides to 
let her child enjoy the taste of 
sweet nectar. Therefore, (b) and 
(c) are correct and (a) is incorrect. 
Hence, option (2) is correct.

100. Option (3) is correct.
Explanation: The poet says that 
every day as he has his tea he sits 
at the window looking out. He 
sees Leerie the lamplighter goes 
by his street. He states that he 
does not want to follow the foot-
steps  of his father, and wants to 
become like Leerie the lamplight-
er. He sits and wonders about the 
profession of lamplighting and 
the joy that it brings to everyone. 
Hence, option (3) is correct.

101. Option (2) is correct.
Explanation: The phrase ‘the sun 
has left the sky’ indicates the 
sun is no more, so it is evening. 
Hence, option (2) is correct.

102. Option (4) is correct.
Explanation: The pattern of lines 
5-8 is : see/be, do/you. Thus, the 
rhyme scheme is aabb. Hence, 
option (4) is correct.

103. Option (1) is correct.
Explanation: The poet states ‘for 
we are very lucky , with a lamp 
before the door’. This implies 
that he is lucky to have the light 
at night before his door. Hence, 
option (1) is correct.

104. Option (1) is correct.
Explanation: Leerie the lamp-
lighter ensures that the poet’s 
family has light before their door, 
but if it is occasional cannot be 
concluded. The poet evidently 
denies following the footsteps 
of his father, as he is fascinated 
by the profession of Leerie. He 
claims to be strong one day and 
along with Leerie, he wants to 
light lamps at everyone’s doors. 
Therefore, (a) and (b) are incor-
rect and (c) is correct. Hence, op-
tion (1) is correct.

105. Option (2) is correct.
Explanation: If Leerie by profes-
sion is a lamplighter, then the 
father is a banker. Hence, option 
(2) is correct.

106. Option (1) is correct.
Explanation: Sign language is a 
natural language,   meaning that 
it emerged through an abstract, 
protracted aging process. Sign 
languages have their own gram-
mar, and has many varieties. 
Therefore, it is not true that sign 
language does not have gram-
mar. Hence, option (1) is correct.

107. Option (3) is correct.
Explanation: Cluster vocabulary 
refers to a groups of words based 
on a common theme. Word webs 
are mind maps that promote ac-
tive learning and help students 
develop higher-order thinking 
skills. A thematic set are the 
words used for a given theme. 
Word groups/clusters are groups 
of words based on a common 
theme. Thus, thematic vocabu-
lary is correct. Hence, option (3) 
is correct.

108. Option (3) is correct.
Explanation: Procedural knowl-
edge in learning grammar refers 
to understanding how a gram-
matical form functions in use and 
applying the same. So knowing 
how to do the grammatical item 
is the objective.  Hence, option 
(3) is correct.

109. Option (1) is correct.
Explanation: Scanning is reading 
rapidly in order to find specific 
facts. Skimming is a strategic, se-
lective reading method in which 
you focus on the main ideas of 
a text. Study skills are often re-
ferred to as study strategies and 
academic skills and are consid-
ered as an effective approach 
to learning. Critical reading is a 
process of analyzing, interpret-
ing and, sometimes, evaluating. 
So when a learner reads through 
a news item for a specific infor-
mation, it is known as scanning. 
Hence, option (1) is correct.

110. Option (4) is correct.
Explanation: Multilingual policy 
refers to the process of teaching 
students who regularly engage 
with more than one language. 
Multilingual policy is the use 
of more than one language, ei-
ther by an individual speaker 
or by a group of speakers. Lan-
guage Acquisition is the process 
of learning and understanding 
a language by a child or adult. 
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Thus, the given example is a case 
of Multilingual policy. Hence, 
option (4) is correct.

111. Option (3) is correct.
Explanation: In this case, Tamil 
and Punjabi are the languages 
acquired (from her neighbour-
hood); while English comes un-
der language learning. Hence, 
option (3) is correct.

112. Option (2) is correct.
Explanation: Mutual dictation is 
the process where pairs of stu-
dent dictate to each other in or-
der to complete a specific text. 
Thus, the given example is a case 
of mutual dictation. Hence, op-
tion (2) is correct.

113. Option (4) is correct.
Explanation: BICS (Basic inter-
personal communication skills) 
refers to conversational fluency – 
the ability to talk about objects or 
experiences in face-to-face famil-
iar contexts. The given example 
emphasizes on informal face-to-
face conversation and interac-
tion, so BICS (Basic interpersonal 
communication skills) is the cor-
rect choice. Hence, option (4) is 
correct.

114. Option (1) is correct.
Explanation: In the given exam-
ple, the teacher teaches through 
critical language development. 
Hence, option (1) is correct.

115. Option (4) is correct.
Explanation: Reciprocal teaching 
is a cooperative learning strategy 
that aims to improve students' 
reading comprehension skills, 
here;  students talk with their 
teachers about the substance and 
meaning of texts they just read. 
Hence, option (4) is correct.

116. Option (3) is correct.
Explanation: Remedial teaching 
primarily focuses on provid-
ing extra attention and tailored 
instruction to learners who 
struggle with certain aspects of 
language learning. It aims to 
address specific learning diffi-
culties to improve the student's 
overall proficiency.

117. Option (3) is correct.
Explanation: Interlingual identi-
fication refers to a learner's rec-
ognition of similarities between 
their native language and the 
target (second) language they 

are learning. This can involve 
identifying common linguistic 
elements, structures, or vocabu-
lary.

118. Option (1) is correct.
Explanation: When a specific 
community within a larger re-
gion speaks a variation of a lan-
guage, it is often referred to as a 
social dialect. This term reflects 
language differences attributable 
to social groups rather than geo-
graphic areas.

119. Option (1) is correct.
Explanation: Extensive reading 
involves learners reading texts 
for enjoyment and to develop 
general reading skills. It is not 
done for learning grammar. 
Hence, option (1) is correct.

120. Option (3) is correct.
Explanation: The primary aim 
of the Three Language Formula 
is to promote multilingualism 
in India and enable students to 
communicate effectively across 
the country. The Three Language 
Formula states that every stu-
dent in India should learn three 
languages: two of which should 
be native Indian languages, in-
cluding one regional language, 
and the third should be English. 
Hence, option (3) is correct.

Hkk"kk-I: fgUnh

91. fodYi (1) lgh gSA
O;k[;kµekuo 'kCn fo'ks"k.k ugha gSA ekuo 
'kCn dk fo'ks"k.k ekuoh; gksxkA tcfd 
vU; 'kCn fo'ks"k.k&fo'ks"; ds mnkgj.k 
gaS tSls& vk/;kfRed nqfu;k] :ikRed 
ifjorZu] v¡/ksjs ;qxA ekuo vkSj vfLrRo 
nksuksa gh laKk 'kCn gSaA ekuo&tkfrokpd 
laKk vkSj vfLrRo&Hkkookpd laKkA
 fo'ks"k.k&fo'ks";& fo'ks"k.k os 'kCn gSa 

tks fdlh laKk ;k loZuke 'kCn dh 
fo'ks"krk dks crkrs gSa tcfd fo'ks"; os 
laKk ;k loZuke 'kCn gksrs gSa ftudh 
fo'ks"krk dks fo'ks"k.k izdV djrk gSA 

92. fodYi (4) lgh gSA
O;k[;kµmUufr izkIr djus ds fy, 
vko';d gS fd euq"; viuh dfe;ksa dks 
tku ysA viuh ;k=k ds vkjEHk esa yksx 
viuh izxfr esa ck/kk Mkyus okys lSadM+ksa 
O;fDrxr vkSj lkekftd dfe;ksa dk irk 
yxkrs gSaA

93. fodYi (1) lgh gSA
O;k[;kµ^v/;kRe* 'kCn esa ^bd* izR;; 
yxkus ij ^vk/;kfRed* 'kCn cusxkA
 izR;;µ;g os 'kCn gksrs gSa tks nwljs 

'kCnksa ds vUr esa tqM+dj] viuh izd`fr 
ds vuqlkj] 'kCn ds vFkZ esa ifjorZu 
dj nsrs gSaA

94. fodYi (4) lgh gSA
O;k[;kµx|ka'k ds vk/kkj ij dgk tk 
ldrk gS fd ifjorZu ekuo thou dk 
lR; gSA ftl izdkj ekSle ifjofrZr gksrk 
gS mlh Hkkafr ekuo thou esa Hkh ifjorZu 
vkrk jgrk gSA ekuo lajpuk esa :ikRed 
ifjorZu vc Hkh gks jgs gSa vkSj Hkfo"; esa 
Hkh gksaxsA

95. fodYi (1) lgh gSA
O;k[;kµvkfnekuo us HkkSfrd {ks= esa izxfr 
dh ijUrq vk/;kfRed {ks= esa izxfr ugha dj 
ldrkA viuh mUufr ek=k ds izkjfEHkd 

pj.k esa lqnwj vrhr ds vaèksjs ;qx esa ekuo 
us vdsys HkkSfrd vkSj ekufld {ks=ksa esa 
izxfr dhA ge ;g ugha dg ldrs fd mu 
vkjafHkd euq";ksa us okLro esa dksbZ egRoiw.kZ 
vk/;kfRed izxfr dh FkhA gkykafd mUgkasus 
tks Hkh mUufr dh] og fdlh Hkh rjg ls 
egRoghu ugha FkhA

96. fodYi (3) lgh gSA
O;k[;kµ^ekuo* 'kCn esa ^bZ;* izR;; vkSj 
^v* milxZ dk iz;ksx laHko gSA

 tSls%& 

  v $ ekuo = vekuo
 ekuo $ bZ; = ekuoh;
 milxZ& os 'kCnka'k tks fdlh 'kCn ds 

iwoZ esa tqM+dj mlds vFkZ esa ifjorZu 
dj nsrs gSa] mUgsa milxZ dgrs gSaA

 izR;;µos 'kCnka'k tks fdlh 'kCn ds 
vUr esa tqM+dj mlds vFkZ esa ifjorZu 
dj nsrs gSa] mUgsa izR;; dgrs gSaA

97. fodYi (2) lgh gSA
O;k[;kµekuo vfLrRo f=i{kh; gS& 
HkkSfrd] ekufld vkSj vk/;kfRedA viuh 
;k=k ds izkjafHkd pj.k esa lqnwj vrhr ds 
va/ksjs ;qx esa ekuo us vdsys HkkSfrd vkSj 
ekufld {ks=ksa esa izxfr dhA

98. fodYi (4) lgh gSA
O;k[;kµ^mYys[kuh; ifjorZu* ls rkRi;Z 
egRoiw.kZ ifjorZu ls gSA euq"; Hkfo"; esa 
,sls mYys[kuh; ifjorZuksa ls xqtjsxk tks 
vkt ds yksxksa ds fy, yxHkx vifjfpr 
gksaxsA
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99. fodYi (2) lgh gSA
O;k[;kµizxfr izkIr djus dk O;ofLFkr 
rjhdk vkfnekuoksa ds ikl ugha FkkA mu 
vkfnekuoksa us lq[k izkIr djus dh viuh 
lgt bPNk ls izsfjr gksdj Hkh bu [kkfe;ksa 
ds f[kykQ la?k"kZ fd;kA

100. fodYi (2) lgh gSA
O;k[;kµbl dfork dk eq[; Loj 
ns'kHkfDr gS D;ksafd ;g dfork ns'k dh 
jkg esa 'kh'k U;kSNkoj djus dh Hkkouk ls 
vksr&izksr gS tcfd bl dfork dk eq[; 
Hkko ;k jl vkst gSA
 vkst dk rkRi;Zµos dkO; ftldks 

i<+us ;k lquus ls ân; esa meax] mRlkg 
vkSj vkst Hkko dk lapkj gksrk gS] ml 
dkO; dks vkst xq.k iz/kku dkO; dgk 
tkrk gSA vkst Loj ohjjl dh dfork 
esa fo|eku gksrk gSA

101. fodYi (2) lgh gSA
O;k[;kµ^va/kdkj* lek/kku dk izrhd 
ugha gS D;ksafd lek/kku fdlh Hkh oLrq dk 
gy gksrk gSA
va/kdkj ds izrhdµpqukSfr;ka] cqjkbZ] 
fujk'kkA

102. fodYi (3) lgh gSA
O;k[;kµlewg esa fHkUu 'kCn ;qXe 
gkj&fogkj gS D;ksafd vU; lHkh 'kCn 
,d&nwljs ds foykse gSaA
lgh 'kCn&;qXeµ
 t;&ijkt;
 izdk'k&va/kdkj
 lR;&vlR;

103. fodYi (1) lgh gSA
O;k[;kµdfork esa lR; ij lokZf/kd cy 
fn;k x;k gSA  dfo us lR; ds lkFk cus 
jgus dh ckr dgh gS rFkk crk;k x;k gS 
fd lR; dh lnk fot; gksrh gSA

104. fodYi (4) lgh gSA
O;k[;kµdfork ds vuqlkj jkgh dh 
fo'ks"krk gS fd og gj rjg ds ekxZ ij pys] 
mls lQyrk vo'; ,d fnu izkIr gksxhA

105. fodYi (1) lgh gSA
O;k[;kµdfork ds vuqlkj fdlh Hkh 
fLFkfr esa LokfHkeku cuk jguk pkfg,A 
'kh'k dHkh >qduk ugha pkfg,A

106. fodYi (1) lgh gSA
O;k[;kµladsr Hkk"kk ,d izdkj dh 
LokHkkfod Hkk"kk gksrh gSA ckyd izkjEHk esa 
vius gkFkksa dks fgyk&Mqyk dj Hkh viuh 
ckr dks lkadsfrd ek/;e }kjk vfHkO;Dr 
djrk gSA
ladsr Hkk"kk dh fo'ks"krk,¡%&
 ladsr Hkk"kk izkd`frd Hkk"kk gSA

 ladsr Hkk"kk esa O;kdj.k Hkh fo|eku 
gksrk gSA

 ladsr Hkk"kk ds cgqr ls izdkj gSA

107. fodYi (3) lgh gSA
O;k[;kµ'kCn laink ds vf/kxe dh bl 
xfrfof/k dks Fkhe vk/kkfjr 'kCnkoyh ds 
:i esa tkuk tk,xkA

108. fodYi (1) lgh gSA
O;k[;kµO;kdj.k f'k{k.k ds vf/kxe 
esa izfØ;kRed Kku O;kdjf.kd rRoksa ds 
fu;eksa dks tkuuk gSA
 izfØ;kRed Kkuµ;g Kku fdlh 

fof'k"V dkS'ky ;k dk;Z dks djus dk 
Kku gSA

109. fodYi (1) lgh gSA
O;k[;kµ,d f'k{kkFkhZ fdlh fof'k"V 
tkudkjh izkIr djus ds fy, lekpkj i= 
ds lekpkj i<+rh gSA bl iBu dks ckjhdh 
ls iBu dgsaxs D;ksafd f'k{kkFkhZ dks ml 
lekpkj i= ls fof'k"V tkudkjh izkIr 
djuh gSA

110. fodYi (1) lgh gSA
O;k[;kµbl f'k{k.k'kkL=h; ;qfDr dks 
cgqHkk"kk f'k{k.k ds :i esa tkuk tkrk gSA
 blesa f'k{kkFkhZ d{kk esa viuh&viuh 

Hkk"kk dk mi;ksx vfHkO;fDr ds nkSjku 
dj ldrs gSaA

111. fodYi (3) lgh gSA
O;k[;kµJs;k }kjk tkuh xbZ Hkk"kk,¡& 
rfey rFkk iatkch Hkk"kk vtZu vkSj vaxzsth 
Hkk"kk vf/kxe ds vUrxZr vk,xhA

112. fodYi (2) lgh gSA
O;k[;kµigyh tksM+hnkj igyk okD; 
i<+rh gS vkSj nwljh tksM+hnkj ml okD; 
dks fy[krh gSA ;g Øe fujUrj tksfM+;ksa 
esa pyrk gSA bl xfrfof/k dks ikjLifjd 
Jqrys[k dgrs gSaA
 ikjLifjd Jqrys[k%& LkHkh vkil esa 

feydj vkSj lqudj ,d lkFk dk;Z 
djrs gSaA blls Hkk"kk 'kq¼rk dk fodkl 
gksrk gSA

113. fodYi (4) lgh gSA
O;k[;kµcqfu;knh varjoS;fDrd lEizs"k.k 
dkS'ky dk iz;ksx ge fnu&izfrfnu ds fy, 
vkeus&lkeus dh vUr%fØ;k ds fy, djrs 
gSaA

114. fodYi (1) lgh gSA
O;k[;kµv/;kid vius f'k{kkfFkZ;ksa esa 
lekykspukRed Hkk"kk fodkl djus dh 
ps"Vk dj jgh gSA

115. fodYi (1) lgh gSA
O;k[;kµikB~;oLrq dh fo"k;oLrq ij 
laokn fd;k tkrk gS ftlls lehiLFk 

fodkl dk {ks= l`ftr gksrk gS vkSj 
ifjek.kr% iBu cks/k esa lq/kkj gksrk gS] bl 
fof/k dks lajpukRed mikxe dgsaxsA

116. fodYi (1) lgh gSA
O;k[;kµmipkjkRed f'k{k.k mu 
f'k{kkfFkZ;ksa vkSj v/;kidksa ds fy, gksrk gS 
ftUgsa vius f'k{k.k ;k vf/kxe dh ;qfDr;ksa 
dks le>us vkSj cnyus dh vko';drk 
gksrh gSA

117. fodYi (2) lgh gSA
O;k[;kµf'k{kkFkhZ ds fu.kZ; dqN rks fofHkUu 
Hkk"kkvksa dk vf/kxe fofHkUu ;ksX;rkvksa 
dk vk/kkj ;k le vk'oklu gS] mUgsa 
varjHkkf"kd igpku dgrs gSaA

118. fodYi (4) lgh gSA
O;k[;kµfo'ks"k leqnk; }kjk cksyh tk jgh 
ey;kye dks {ks=h; cksyh ds :i esa tkuk 
tk,xkA

119. fodYi (3) lgh gSA
O;k[;kµfoLr`r iBu dk mís'; ugha gS& 
ljkguk cks/k ds fy, iBu 
foLr`r iBu ds mís';%& 
 O;kdj.k vf/kxe ds fy, iBu 
 vkuUn ds fy, iBu
 ,DLVªkiksys'ku ds fy, iBu

120. fodYi (3) lgh gSA
O;k[;kµf=Hkk"kk lw= esa ekr`Hkk"kk@?kj dh 
Hkk"kk@ {ks=h; Hkk"kk izFke Hkk"kk ds :i esa gSA 
f}rh; Hkk"kk& fganh Hkk"kk dkO;ksa esa vk/kqfud 
Hkkjrh; Hkk"kk ;k vaxzsth@r`rh; Hkk"kk& fganh 
Hkk"kh ;k xSj fganh Hkk"kh jkT;ksa esa vaxzsth ;k 
,d vk/kqfud Hkkjrh; Hkk"kk gksA

Language-II: English

121. Option (4) is correct. 
 Explanation: Just as local and 

global are opposites; similarly, 
erratic (unpredictable) is oppo-
site to consistent. Hence, option 
(4) is correct.

122. Option (4) is correct. 
 Explanation: It is clear that the 

loss of farmer’s earnings is pri-
marily due to extreme weather 
changes, this results in the rise 
of food prices, thus leading to 
reduced food consumption. This 
impacts the deteriorating nutri-
tional security. Thus, the correct 
pattern is (c), (a), (d), (b). Hence, 
option (4) is correct.

123. Option (4) is correct. 
 Explanation: The farmers who 

have taken to household pro-
duction are not impacted by in-
flation or malnutrition or food 
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insecurity, thus they enjoy better 
nutritional intake. Hence, option 
(4) is correct.

124. Option (3) is correct. 
 Explanation: The statement that 

a significant number of house-
holds can afford healthy food is 
proved incorrect in the first par-
agraph. It is untrue that house-
hold food production has limited 
impact on food inflation. It is no-
where stated that food insecurity 
is an occasional phenomenon in 
India. Thus, all statements are in-
correct. Hence, option (3) is cor-
rect.

125. Option (2) is correct. 
 Explanation: The second para-

graph testifies that with increase 
in household production, wom-
en enjoyed a  normal body mass 
index; increased nutritional in-
take; increased food consump-
tion in households. The only odd 
one is increase in the number of 
malnourished children. Hence, 
option (2) is correct.

126. Option (1) is correct. 
 Explanation: These changes are 

‘pronounced’ implies ‘noticea-
ble’ in remote areas. Hence, op-
tion (1) is correct.

127. Option (3) is correct. 
 Explanation: An adjective is a 

word that modifies or describes 
a noun or pronoun. ‘Significant’ 
is an adjective, modifying the 
noun ‘number’. While ‘own’ is 
a pronoun. Hence, option (3) is 
correct.

128. Option (2) is correct. 
 Explanation: As discussed in the 

passage, some households have 
remained out of the crisis of food 
insecurity by adopting home 
production systems. Hence, op-
tion (2) is correct.

129. Option (2) is correct. 
 Explanation: The aspect that 

Abdul preferred classical music 
is incorrect, because as per the 
passage he preferred pop mu-
sic, while Philip loved classical 
music. Other options are true for 
Abdul. He was a criminal from 
Algeria, who was quick-wit-
ted and supportive. Later, he is 
shown to have shared a close 
bond with his employer. Hence, 
option (2) is correct.

130. Option (4) is correct. 
 Explanation: The first statement 

confirms that ‘Untouchable’ is 
a French comedy movie. The 
theme is set upon two friends 
with different personalities and 
tastes. The movie is shown to be 
successful in France and Algeria. 
Therefore, (a) and (c) are correct 
and (b) is incorrect. Hence, op-
tion (4) is correct.

131. Option (4) is correct. 
 Explanation: The last paragraph 

states that despite living in two 
different countries with their 
families, what kept their bond 
strong was their warm friend-
ship. Hence, option (4) is correct.

132. Option (1) is correct. 
 Explanation: Both luxury and 

opulence are synonyms, so the 
next pair ‘sensation’ will be syn-
onymous to ‘feeling’. Hence, op-
tion (1) is correct.

133. Option (3) is correct. 
 Explanation: An adjective is a 

word that modifies or describes 
a noun or pronoun. Here, ‘work-
ing’ is the adjective describing 
the noun ‘relationship’. An ad-
verb is a word that modifies (de-
scribes) a verb (“he sings loud-
ly”), an adjective (“very tall”), 
another adverb. Here, ‘quickly’ 
is an adverb modifying the verb 
‘developed’. Hence, option (3) is 
correct.

134. Option (2) is correct. 
 Explanation: Abdul after quitting 

a life of crime in Algeria, shifted 
to France looking for work/em-
ployment. Hence, option (2) is 
correct. 

135. Option (4) is correct. 
 Explanation: It is clearly stated in 

the passage that Philip lost the 
use of his arms and legs in an ac-
cident, so he needed a nurse to 
help him with day-to-day prac-
tical things in life. Hence, option 
(4) is correct.

136. Option (3) is correct. 
 Explanation: The primary aim 

of the Three Language Formula 
is to promote multilingualism 
in India and enable students to 
communicate effectively across 
the country. The Three Lan-
guage Formula states that every 
student in India should learn 

three languages: two of which 
should be native Indian lan-
guages, including one regional 
language, and the third should 
be English. So, the incorporation 
of classical language is incorrect. 
Hence, option (3) is correct.

137. Option (1) is correct. 
 Explanation: This activity, where 

students listen to a text and then 
work in groups to recreate it, is 
a combination of listening and 
writing tasks, but it closely re-
sembles collective dictation, 
which involves listening and 
then writing what was heard.
Hence, option (1) is correct.

138. Option (2) is correct. 
 Explanation: Any form of writ-

ing starts with brainstorming of 
ideas, jotting down the points, 
making an outline, followed by 
creating a draft, then editing and 
finalizing. Hence, option (2) is 
correct.

139. Option (1) is correct. 
 Explanation: In language learn-

ing, students should learn their 
mother tongue or a local lan-
guage as their first language, 
which will further support the  
earning of second language. 
Hence, option (1) is correct.

140. Option (4) is correct. 
 Explanation: Elam's use of mul-

tiple languages in different con-
texts, adapting to his interlocu-
tors, is known as code-meshing. 
It involves blending languages 
in communication. Interlan-
guage is a type of language used 
by second- and foreign-lan-
guage learners in the process 
of learning a target language. 
Code-switching  occurs when a 
speaker alternates between two 
or more languages, or language 
varieties, in the context of a sin-
gle conversation or situation. 
Translingual may mean "existing 
in multiple languages" or having 
the same meaning in many lan-
guages. So, code-moving is cor-
rect. Hence, option (1) is correct.

141. Option (2) is correct. 
 Explanation: CALP stands for 

'Cognitive Academic Language 
Proficiency'. It refers to the idea 
of developing second language 
skills is essential for academic 
learning. BICS (Basic interper-
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sonal communication skills) re-
fers to conversational fluency 
– the ability to talk about objects 
or experiences in face-to-face 
familiar contexts. Interlanguage 
is a type of language used by 
second- and foreign-language 
learners in the process of learn-
ing a target language. Thus, the 
correct answer is Cognitive Ac-
ademic Language Proficiency.  
Hence, option (2) is correct.

142. Option (1) is correct. 
 Explanation: This process of con-

sidering opposite perspectives to 
deepen understanding is part of 
critical literacy, which involves 
analyzing and questioning texts 
and ideas.

143. Option (4) is correct. 
 Explanation: Realia refers to ob-

jects and material from every-
day life, especially when used 
as teaching aids. Thus, the use 
of spoons, plates, utensils, pan 
in classroom refers to realia.  
Hence, option (4) is correct.

144. Option (2) is correct. 
 Explanation: Cognitive skills are 

the core skills that our brain uses 
to pay attention, read, think, 
learn, remember, and reason. 
Listening skills are skills that 
contribute to your ability to accu-
rately receive information when 
communicating with others. The 
act of capturing the main idea 
of the lecture and thinking and 
remembering them while rec-
reating involves cognitive skill. 
Hence, option (2) is correct.

145. Option (4) is correct. 
 Explanation: Learning outcomes 

describe the measurable skills, 
abilities, knowledge or values 
that students should be able to 
demonstrate as a result of a com-
pleting a course. Learning out-
comes enable learners to attain 
the competencies in measurable 
terms. Hence, option (4) is cor-
rect.

146. Option (3) is correct. 
 Explanation: Translanguaging 

is the ability to move fluidly be-
tween languages and a peda-
gogical approach to teaching in 
which teachers support this abil-
ity. Thus, it is the moving from 
one language to another while 

teaching learning languages. 
Hence, option (3) is correct.

147. Option (1) is correct. 
 Explanation: An extrapola-

tive question is a question that 
needs imagination and predic-
tion, thus it requires learners to 
move beyond the given inputs 
like reading text. So, to write a 
letter to the young girl would 
employ the use of imagination to 
understand what she must have 
gone through in her life. There is 
nothing as ‘expressive questions’ 
as such. A discursive question 
attempts to provide the reader 
with a balanced argument on a 
topic, supported by evidence. . 
Hence, option (1) is correct.

148. Option (2) is correct. 
 Explanation: The primary aim 

of the Three Language Formula 
is to promote multilingualism 
in India and enable students to 
communicate effectively across 
the country. The Three Lan-
guage Formula states that every 
student in India should learn 
three languages: two of which 
should be native Indian languag-
es, including one regional lan-
guage, and the third should be 
English. So, the transition from 
home language to any two lan-
guages is correct. Hence, option 
(2) is correct.

149. Option (3) is correct. 
 Explanation: Audiolingualism  

is a teaching methodology that 
emphasizes the learning of lan-
guage through listening and 
speaking. It follows the meth-
ods of oral drilling and mastery 
of the formal properties of lan-
guage. Hence, option (3) is cor-
rect.

150. Option (4) is correct. 
 Explanation: Declarative knowl-

edge refers to knowing about 
something, such as facts, infor-
mation, or the rules of a gram-
matical item. It is knowledge of 
the 'what' aspect. Hence, option 
(4) is correct.

Hkk"kk-II: fgUnh

121. fodYi (1) lgh gSA
O;k[;kµ^ekuoh;* 'kCn esa ̂ bZ;* izR;; gSA
 izR;;&os 'kCnka'k tks fdlh 'kCn esa 

tqM+dj mlds vFkZ esa ifjorZu dj nsrs 

gSaA

122. fodYi (4) lgh gSA
O;k[;kµ^,vkbZ* dk vFkZ gS& vkVhZfQ'k;y 
baVSyhtsalA

123. fodYi (1) lgh gSA
O;k[;kµ,vkbZ 'kkjhfjd Je ls tqM+s dk;ksZa 
ij lEHkor% lcls de izHkko Mkyrh 
gSA blls [ksrh&ckM+h dk;Z izHkkfor ugha 
gksxk tcfd vkfo"dkj] fpfdRlk] f'k{k.k 
bR;kfn izHkkfor gksaxsA

124. fodYi (4) lgh gSA
O;k[;kµ,vkbZ ojnku gh jgs vkSj 
HkLeklqj u cus] mlds fy, ;g lkspus 
dh t:jr gS fd ekuoh; cqf¼erk ds 
Lrj dks bruk Å¡pk dSls mBk;k tk, fd 
,vkbZ ml ij gkoh u gks ldsA ekuoh; 
xq.kksa dks laLdkj nsaA

125. fodYi (4) lgh gSA
O;k[;kµHkfo"; esa MkWDVjksa] ltZuksa dh 
t:jr Hkh de gksus okyh gSA ,vkbZ ds 
tfj, y{k.kksa dks le>k tk,xk rFkk 
vkidh dsl fgLVªh cukbZ tk,xhA

126. fodYi (3) lgh gSA
O;k[;kµ,vkbZ dks tUe nsus okyk dkjd 
gSA vko';drkA vko';drk gh vkfo"dkj 
dh tuuh gSA

127. fodYi (2) lgh gSA
O;k[;kµlewg ls fHkUu 'kCn ̂ pk;&ok;* gS 
tcfd vU; 'kCn foijhrkFkZd gSaA
'kCn lewg%&
 dadM+&iRFkj
 i<+kbZ&fy[kkbZ
 jkr&fnu

128. fodYi (1) lgh gSA
O;k[;kµ,vkbZ ls f'k{kk txr Hkh izHkkfor 
gksxk vkSj ;g izHkko ldkjkRed gksxkA 
vc vxj pSV thihVh cuk;k gS rks fQj 
i<+kbZ&fy[kkbZ vkSj bErgkuksa dk og rjhdk 
dkSu&lk gks] tks fcuk ,vkbZ ds ;qokvksa vkSj 
cPpksa ds ckSf¼d Lrj dks ij[k ldsA bu 
lokyksa ds tokc nsuk eqf'dy gS ij utj 
t:j j[kuh pkfg,A

129. fodYi (4) lgh gSA
O;k[;kµvPNs LokLF; dk lEcU/k 
chekfj;ksa ds vHkko ls gSA ;ksx esa izk.k 
dks cy nsus ds fy, vusd vH;kl gSaA 
blds }kjk 'kjhj esa gksus okyh chekfj;ksa 
dh jksdFkke dj ldrs gSaA

130. fodYi (2) lgh gSA
O;k[;kµ thou ds fy, lokZf/kd egRoiw.kZ gS 
izk.k vkSj 'kjhj dk lkeatL;A izk.k dsoy 
gekjs 'kjhj dks gh ugha laHkkyrk cfYd eu] 
cqf¼ vkfn izR;sd vk;ke dks thou nsrk gSA 
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131. fodYi (4) lgh gSA
O;k[;kµizk.k ok;q dks l'kDr cukus dk 
vH;kl ;ksx esa gSA 'kjhj esa gksus okyh 
chekfj;ksa dks jksd ldrs gSaA

132. fodYi (1) lgh gSA
O;k[;kµ^LokLF;* fo'ks"k dk mnkgj.k 
ugha gSA ;g Hkkookpd laKk gSA
fo'ks"k.k ds mnkgj.k& O;ofLFkr] 
larqfyr] LoLFk bR;kfnA

133. fodYi (4) lgh gSA
O;k[;kµ^cqf¼* esa ^bd* izR;; yxus ij 
ckSf¼d 'kCn cusxkA
izR;;& os 'kCnka'k tks fdlh 'kCn ds vUr 
esa yxdj muds vFkZ esa ifjorZu dj nsrs 
gSaA

134. fodYi (4) lgh gSA
O;k[;kµjksx dk dkj.k izk.k ok;q dk vax 
fo'ks"k esa vlarqyu gSA ;ksx esa bl izk.k dks 
cy nsus ds fy, vusd vH;kl gaSA

135. fodYi (3) lgh gSA
O;k[;kµizk.k ok;q 'kjhj ds izR;sd vax 
esa larqfyr vkSj O;ofLFkr gksdj cgrh gSA 
ns[kk tk, rks chekjh vkSj dqN Hkh ugha] 
cfYd izk.k dk ml vax fo'ks"k esa vlarqfyr 
gks tkuk gh gSA

136. fodYi (3) lgh gSA
O;k[;kµHkk"kk f'k{kk ij jk"Vªh; f'k{kk uhfr 
2020 esa foHkk"kk lw= ds vUrxZr Hkk"kk ds 
:i esa 'kkL=h; Hkk"kk dk v/;;u vfuok;Z 
ugha gSA
Hkk"kk f'k{kk ij jk"Vªh; f'k{kk uhfr 2020 
ds lanHkZ esa egRoiw.kZ dFku
 f=Hkk"kk lw= ds vUrxZr Hkkjrh; 

Hkk"kkvksa dk v/;;u
 f=Hkk"kk lw= ds vUrxZr ekr`Hkk"kk@?kj 

dh Hkk"kk dk v/;;uA

137. fodYi (1) lgh gSA
O;k[;kµbl xfrfof/k lkewfgd Jqrys[k 
dgrs gSaA

 egRoiw.kZ fcUnq&
 os f'k{kkFkhZ dh ,dkxzrh ds fy, 

vko';d gSA
 f'k{kkFkhZ dk i<+kbZ esa /;ku dsfUnzr djus 

ds fy, vko';d gSA

138. fodYi (2) lgh gSA
O;k[;kµHkk"kk dks vPNh rjg ls fy[kuk 
lh[kuk&
 ekul eaFku
 eq[; fcUnq uksV djuk
 :ijs[kk rS;kj djuk
 izk:i fy[kuk
 laiknu
 vfUre Lo:i nsuk

139. fodYi (1) lgh gSA
O;k[;kµlgtkr@izFke Hkk"kk dk Kku 
f}rh; Hkk"kk ds vf/kxe dks lefFkZr djrk 
gSA

140. fodYi (3) lgh gSA
O;k[;kµ?kj esa tc fo|kFkhZ vius 
ekrk&firk ds lkFk ckr djrk gS rks 
izokg ds lkFk pkjksa Hkk"kk,¡ cksyrk gS vkSj 
fo|ky; esa og fganh] dUuM+ rFkk vaxzsth 
cksyrk gS D;ksafd mlds fe= o v/;kid 
dks ;gh Hkk"kk,¡ vkrh gSa bl fLFkfr dks 
ijHkkf"kd (VªkalfyaXoy) ;ksX;rk dgrs gSaA

141. fodYi (2) lgh gSA
O;k[;kµlaKkukRed vdknfed Hkk"kk 
fuiq.krk& ;g vdknfed Hkk"kk ;k fofHkUu 
izdkj ds fo"k;ksa ds fy, vko';d Hkk"kk esa 
fuiq.krk ls lEcfU/kr gSA

 eq[; fcUnq%&
 blds vUrxZr rqyuk] ewY;kadu ,oa 

oxhZdj.k dks 'kkfey fd;k tkrk gSA
 blesa fo"k;oLrq lkexzh ds ckjs esa 

lquuk] cksyuk] i<+uk] fy[kuk Hkh 
'kkfey gSA

142. fodYi (4) lgh gSA
O;k[;kµlekykspukRed fo'ys"k.k ds 
vUrxZr fo|kfFkZ;ksa dh le> dks fodflr 
fd;k tkrk gSA mUgsa rkfdZd cukus dk 
iz;kl fd;k tkrk gSA

143. fodYi (4) lgh gSA
O;k[;kµokLrfod oLrqvksa (jh;fy;k) ds 
vUrxzr vkrs gSa%&
 pEep
 IysV
 fMCcs
 ijkr

144. fodYi (2) lgh gSA
O;k[;kµlkekftd foKku dh d{kk esa 
f'k{kkFkhZ d{kk esa fn, tk jgs oDrO; ls 

eq[; fcUnq le>us dh dksf'k'k dj jgs gSa 
vkSj eq[; fcUnq fy[k jgs gSaA bl dkS'ky 
dks laKkukRed dkS'ky dgsaxsA
laKkukRed dkS'ky dk mi;ksx
 fpUru ds fy,
 v/;;u ds fy,
 vf/kxe ds fy,

145. fodYi (4) lgh gSA
O;k[;kµvf/kxe izfrQy f'k{kkfFkZ;ksa dks 
leFkZ cukrs gSa rFkk ;g n{krkvksa dks ekiu 
ds lUnHkZ esa izkIr djus ds fy, vko';d 
gksrs gSaA

146. fodYi (3) lgh gSA
O;k[;kµ^ijHkk"kk O;ogkj* (VªkalySaX;qftax) 
& Hkk"kkvksa ds f'k{k.k vf/kxe ds nkSjku ,d 
Hkk"kk esa nwljh Hkk"kk esa O;ogkj djus ls 
lEcfU/kr gSA

147. fodYi (1) lgh gSA
O;k[;kµtc vki fdlh ds LFkku ij 
Lo;a dks j[kdj orZeku fLFkfr dk 
voyksdu djrs gSa rks bl ys[ku dk;Z dks 
,DLVªkiksysfVo ys[ku dgrs gSaA

148. fodYi (2) lgh gSA
O;k[;kµlHkh cPps viuh fo|ky; f'k{kk 
ekr`Hkk"kk ;k ?kj dh Hkk"kk esa 'kq: djrs 
gSa vkSj nloha iwjh djus rd de ls de 
nks vkSj Hkk"kk,¡ lh[krs gSaA bl izdkj ;g 
f=Hkk"kk lw= ds vUrxZr tkrk gSA

149. fodYi (4) lgh gSA
O;k[;kµlEizs"k.kkRed Hkk"kk f'k{k.k 
Hkk"kk vf/kxe ds fy, fMªy vkSj ^Hkk"kk 
ds vkSipkfjd xq.k/keZ esa fuiq.krk* dks 
vko';d :i dh rjg vuq'kalk djrh gSA

150. fodYi (2) lgh gSA
O;k[;kµ?kks"k.kkRed Kku fdlh O;kdjf.kd 
rRo ij dSls dk;Z fd;k tk, ;g tkuuk gSA
eq[; fcUnq%&
 ;g O;kdj.k dh fo"k;oLrq dks ljy 

cukrk gSA
 Hkk"kk lajpuk dk fodkl gksrk gSA
 O;kdj.k ds izdkjksa ds ckjs esa Kku] 

o.kZu djuk vkSj mls vkSipkfjd 
ifjfLFkfr;ksa esa iz;ksx djuk fl[kk;k 
tkrk gSA
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